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5A1H EL! 929-057 |G)A%3/4UA Vb A 4L W1400 X D700 X H700 £74+ 26,200 = 25800 25,200 (3~) = 24800 (3~) - = = - = =
581H 11 RE 929-058 |G)a73/4uA" Vb A FHL W1400 X D700 X H700 +Fa505 L— 26,200 = 25800 25,200 (3~) = 24800 (3~) - = = - = =
5A1H EL! 929-059 |G)aY3/1UA"Ub A4 FHL W1400 X D700 X H700 F4bFFalb 26,200 = 25800 25,200 (3~) = 24800 (3~) - = = - = =
5A1H 11|RE 929-060 |G)A93/4vA Vb A% FE4L W1400 X D700 X H700 7°7v% 26,200 = 25,800 25,200 (3~) = 24,800 (3~) - = = - = =
5A1H EL! 929-045 |G)A%3/4UA VT A 4L W1400 X D600 X H700 74+ 26,100 = 25700 25,100 (3~) = 24700 (3~) - = = - = =
581H 11RE 929-046 |G)a73/4uA" Vb A FHL W1400 X D600 X H700 +Fa1505 L— 26,100 = 25700 25,100 (3~) = 24700 (3~) - = = - = =
5A1H EL! 929-047 |G)aY3/4uA"UbT A4 FHL W1400 X D600 X H700 4 bFFa7lb 26,100 = 25700 25,100 (3~) = 24700 (3~) - = = - = =
5A1H 11|RE 929-048 |G)A93/4vA Vb A9 FE4L W1400 x D600 X H700 7°7v% 26,100 = 25,700 25,100 (3~) = 24,700 (3~) - = = - = =
5A1H 12| RE 173-138 |G)3Y3/4Y~A" YT 29 B4l W400 X D700 X H700 £74+ 26,900 = 26,500 25,900 (3~) = 25500 (3~) - = = - = =
581H 12 RE 173-139 |G)393/4vA" Vb7 29 Ba#l W400 X D700 X H700 5155 L— 26,900 = 26,500 25,900 (3~) = 25500 (3~) - = = - = =
5A1H 12|RE 173-140 |G)393/4N Ub7 29 B4l W400 X D700 X H700 74 MFa7ll 26,900 = 26,500 25,900 (3~) = 25500 (3~) - = = - = =
5A1H 12|RE 173-141 |G)373/40~' Vb7 29 B ¥l W400 X D700 X H700 7°59% 26,900 = 26,500 25,900 (3~) = 25,500 (3~) - = = - i =
581H 12|RE 173-145 |G)A93/4UN UM A9 ENAVTT Y 3B, K74 22,800 = 22,500 21,800 (3~) = 21,500 (3~) - = = - = =
581H 12 RE 173-146 |G)3YA/4VAUMT R ENALTTY 3B, TF1505°L— 22,800 = 22,500 21,800 (3~) = 21,500 (3~) - = - - = -
581H 12|RE 173147 |G)AJ3/4AUN UM AT ENAVIT Y 3ER 7599 22,800 = 22,500 21,800 (3~) = 21,500 (3~) - = = - = =
6R1H 12|RE 134-508 |193/BS+ AT A LR YI#R1#/A-SDS-M4CVF5 390 = 420 - = - - = - - = -
581H 128 929-088 |393/4UA UM RS T A9y 7 W2 W1000F +74+7 I~ 10,920 = 10,400 - = - - = - - = -
5A1H 12|RE 929-089 |293/4UA UM AT T R9by7° W2 W1000F 74+ L— 10,920 = 10,400 - = - - = - - = -
581H 128 929-090 |393/4UA UM RS T RA9b7 W2 W1200F0 £74+71— 12,100 = 11,400 - = - - = - - = -
5A1H 12|RE 929-091 |293/4U~N UM AT T R9by7° W2 W1200R w74+ L— 12,100 = 11,400 - = - - = - - = -
581H 128 929-092 |393/4UA UM RS T RA9b7 W2 W1400F0 £74+7 1~ 13,800 = 13,100 - = - - = - - = -
5A1H 12|RE 929-093 |293/4UA UM AT T R9b 7 W R W1400F w74+ L— 13,800 = 13,100 - = - - = - - = -
5818 13 RE 929-141 |4/71/0DS F#h#lAa+#H2E% W1000 x D700 X H700 &7+ 21,700 = 20,750 20,750 (3~) = 19,800 (3~) - = = - = =
5A1H 13| RE 929-142 |4//71/0DS F#i#Hl G #H2E% W1000 X D700 X H700 F+F17/b 21,700 = 20,750 20,750 (3~) = 19,800 (3~) - = = - = =
5818 13 RE 929-143 |41/71/0DS Fr#h#lAa+H3E% W1000 X D700 X H700 &7 b 21,700 = 20,750 20,750 (3~) = 19,800 (3~) - = = - = =
5A1H 13| RE 929-144 |4//71/0DS F#i#Hl G 4H3EE W1000 X D700 X H700 F+F17)b 21,700 = 20,750 20,750 (3~) = 19,800 (3~) - = = - = =
5818 13 RE 929-145 |41/71/0DS Al ZE+#12E% W1000 X D700 X H700 #74b 21,700 = 20,750 20,750 (3~) = 19,800 (3~) - = = - = =
5A1H 13| RE 929-146 |4//7L/0DS F##lZ#H2E% W1000 X D700 X H700 F+F17/b 21,700 = 20,750 20,750 (3~) = 19,800 (3~) - = = - = =
5818 13 RE 929-147 |4/71/0DS Fr#h#lZE#H3E% W1000 X D700 X H700 &7+ 21,700 = 20,750 20,750 (3~) = 19,800 (3~) - = = - = =
5A1H 13| RE 929-148 |4//71/0DS F##lZ#H3E% W1000 X D700 X H700 F+F17/b 21,700 = 20,750 20,750 (3~) = 19,800 (3~) - = = - = =
5818 13 RE 142-266 |1/71/0DS Fr#fi#lA%H2E% W1000 X D700 X H700 74} 23,700 = 22,750 22,750 (3~) = 21,800 (3~) - = = - = =
5A1H 13| RE 142-268 |{1/91/0DS F##lA#2E% W1000 x D700 X H700 $Fa7) 23,700 = 22750 22,750 (3~) = 21,800 (3~) - = = - = =
5818 13 RE 142-279 |1/71/0DS Fr#f#l %3 W1000 X D700 X H700 £74} 23,700 = 22,750 22,750 (3~) = 21,800 (3~) - = = - = =
5A1H 13| RE 142-434 |{)1/0DS F##l-A#3E% W1000 x D700 X H700 $Fa7) 23,700 = 22750 22,750 (3~) = 21,800 (3~) - = = - = =
5818 13 RE 142-463 |1/71/0DS Fr#fi#lZ+H2E% W1000 X D700 X H700 £74} 23,700 = 22,750 22,750 (3~) = 21,800 (3~) - = = - = -
5A1H 13| RE 142-500 |{/%1/0DS F#f#lZ #12E% W1000 x D700 X H700 $Fa7) 23,700 = 22750 22,750 (3~) = 21,800 (3~) - = = - = =
5818 13 RE 142-502 |1/71/0DS Fr#fi#lZ%H3E% W1000 X D700 X H700 74} 23,700 = 22,750 22,750 (3~) = 21,800 (3~) - = = - = =
5A1H 13 RE 142-506 |{/%1/0DS F###lZ #13E% W1000 x D700 X H700 $F17) 23,700 = 22,750 22,750 (3~) = 21800 (3~) - = = - = =
5818 13 RE 929-149 |41/71/0DS F#h#lA+#2E% W1200 X D700 X H700 &74h 22600 = 21570 21,650 (3~) = 20620 (3~) - = = - = =
5A1H 13 RE 929-150 |4//7L/0DS Fr#i#Hl G #H2E% W1200 X D700 X H700 F+F17)b 22600 = 21570 21,650 (3~) = 20620 (3~) - = = - = =
5818 13 RE 929-151 |4/71/0DS F#h#lAa+#H3E% W1200 X D700 X H700 &74b 22600 = 21570 21,650 (3~) = 20620 (3~) - = = - = =
5A1H 13 RE 929-152 |//71/0DS F#i#Hl G #H3E% W1200 X D700 X H700 F+F17)b 22600 = 21570 21,650 (3~) = 20620 (3~) - = = - = =
5818 13 RE 929-153 |41/71/0DS F#h#lZE+#h12E% W1200 X D700 X H700 &7 b 22600 = 21570 21,650 (3~) = 20620 (3~) - = = - = =
5A1H 13 RE 929-154 |4//71/0DS Fr#i#lZ#2E% W1200 X D700 X H700 F+F17/b 22600 = 21570 21,650 (3~) = 20620 (3~) - = = - = =
5818 13 RE 929-155 |41/71/0DS F#h#lZE4#H3E% W1200 X D700 X H700 &7 b 22600 = 21570 21,650 (3~) = 20620 (3~) - = = - = =
518 13 RE 929-156 |4//7L/0DS F#i#HlZ#H3E% W1200 X D700 X H700 F+F17)b 22600 = 21570 21,650 (3~) = 20620 (3~) - = = - = =
5818 13 RE 142-514 |1/71/0DS Fr#f#lA%H2E% W1200 x D700 X H700 74} 24600 = 23570 23,650 (3~) = 22620 (3~) - = = - = =
518 13 RE 142-730 |{1/%91/0DS F##lA#2E% W1200 x D700 X H700 $Fa7) 24600 = 23570 23,650 (3~) = 22620 (3~) - = = - = =
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5818 13|KE 142-779 |1/71/0DS Fr#fi#l %3 W1200 % D700 x H700 F74}+ 24600 = 23570 23,650 (3~) = 22620 (3~) - = = - = =
5A1H 13|RE 142-843 |1/1/0DS F#h#lA#3E% W1200 x D700 X H700 +Fa7) 24,600 = 23570 23,650 (3~) = 22,620 (3~) - = = - = =
5818 13|KE 142-924 |{)71/0DS Fr#f#lZ#12E% W1200 X D700 X H700 74+ 24600 = 23570 23,650 (3~) = 22620 (3~) - = = - = =
5A1H 13|RE 142-976 |1/91/0DS F#h#lZ #12E% W1200 x D700 X H700 $Fa7) 24,600 = 23570 23,650 (3~) = 22,620 (3~) - = = - = =
5818 13|KE 142-977 |{/71/0DS F#d#lZ#13F% W1200 X D700 X H700 74+ 24600 = 23570 23,650 (3~) = 22620 (3~) - = = - = =
5A1H 13|RE 142-978 |1/%1/0DS F#h#lZ #13E% W1200 x D700 X H700 +Fa7) 24,600 = 23570 23,650 (3~) = 22,620 (3~) - = = - = =
5A81H 14|RE 929-130 |4/9I/0DH 4] W1000 x D700 X H700 #74F/ODH-107WH 14400 = 13580 13,720 (3~) = 12,900 (3~) - = = - = =
5818 14|KE 929-131 |{/%1/0DH FE4| W1000 X D700 X H700 +F25/L./ODH-107-NA 14,400 = 13,580 13,720 (3~) = 12,900 (3~) - = = - = =
5A81H 14|RE 929-132 |4/9I/0DH 4| W1200 x D700 X H700 #74F/ODH-127WH 15,700 = 15,000 15,000 (3~) = 14,300 (3~) - = = - = =
581H 14 RE 929-133 |{/91/0DH F#| W1200 x D700 X H700 +F17)l./ODH-127-NA 15,700 = 15,000 15,000 (3~) = 14,300 (3~) - = = - = =
5818 14| RE8 929-134 |{/9I/0DH 4| W1400 x D700 X H700 #74F/ODH-147WH 17,900 = 17,150 17,220 (3~) = 16,470 (3~) - = - - = -
581H 14 RE 929-135 |{//91/0DH F#| W1400 x D700 X H700 +F17)l./ODH-147-NA 17,900 = 17,150 17,220 (3~) = 16,470 (3~) - = = - = =
5818 14| RE8 141-537 |{/%1/0DH 4L W1000 x D700 X H700 #74+/ODH-107-WH 16,400 = 15580 15,720 (3~) = 14,900 (3~) - = - - = -
581H 14 RE 141-538 |{/%1/0DH SE4L W1000 X D700 X H700 $F17),/ODH-107-NA 16,400 = 15580 15,720 (3~) = 14,900 (3~) - = = - = =
5818 14|RE8 141-623 |{/%1/0DH 4L W1200 x D700 X H700 #74+/ODH-127-WH 17,700 = 17,000 17,000 (3~) = 16,300 (3~) - = - - = -
581H 14 RE 141-624 |{J%1/0DH SE4L W1200 X D700 X H700 $F17),/ODH-127-NA 17,700 = 17,000 17,000 (3~) = 16,300 (3~) - = = - = =
5818 14| K8 141-632 |{/%1/0DH 4L W1400 x D700 X H700 #74+/ODH-147-WH 19,900 = 18,900 19,220 (3~) = 18,220 (3~) - = - - = -
581H 14 RE 141-647 |{/%1/0DH SE4L W1400 X D700 X H700 $F17),/ODH-147-NA 19,900 = 18,900 19,220 (3~) = 18,220 (3~) - = = - = =
5818 14| K8 929-157 |4//71/0DS M#hHlZ 2% 3B W1400 X D700 X H700 K74+ 34400 = 34,260 33,450 (3~) = 33310 3~) - = = - = -
5A1H 14|RE 929-158 |4//71/0DS M##IHlZ 2438 W1400 X D700 X H700 FFa7lb 34,400 = 34,260 33,450 (3~) = 33,310 (3~) - = = - = =
5818 14| K8 929-159 |4/7I/0DS W#hHl#H3E% W1400 X D700 X H700 74+ 34400 = 34,260 33,450 (3~) = 33310 (3~) - = = - = =
581H 14 %8 929-160 |1/71/0DS F#HLFE#H3EE W1400 x D700 X H700 FF17)b 34400 = 34,260 33,450 (3~) = 33310 (3~) - = = - = =
5818 14| RE8 929-161 |1/71/0DS F##LM#12E% W1400 x D700 X H700 &7+ 34400 = 34,260 33,450 (3~) = 33310 (3~) - = = - = =
5A1H 14 RE 929-162 |4//7L/0DS W##lm#H2E% W1400 X D700 X H700 F+F17/b 34,400 = 34260 33,450 (3~) = 33,310 (3~) - = = - = =
5A1H 14 RE 142-988 |1/71/0DS W+di#l 24 3E% W1400 X D700 X H700 74} 36,400 = 36,260 35,450 (3~) = 35310 (3~) - = = - = =
5A1H 14|RE 143-028 |1/791/0DS MfdH4lZ 2E% A 3% W1400 x D700 X H700 +Fa7) 36,400 = 36,260 35,450 (3~) = 35310 (3~) - = = - = =
5A1H 14 RE 143-034 |{/71/0DS WAl #3E% W1400 X D700 X H700 74+ 36,400 = 36,260 35,450 (3~) = 35310 (3~) - = = - = =
5A1H 14 RE 143-248 |{/%1/0DS W4l #3E% W1400 x D700 X H700 $Fa7) 36,400 = 36,260 35,450 (3~) = 35310 (3~) - = = - = =
5A1H 14 RE 143-250 |{/71/0DS WAl #2E% W1400 X D700 X H700 74+ 36,400 = 36,260 35,450 (3~) = 35310 (3~) - = = - = =
5A1H 14 RE 143-257 |{1/%1/0DS M4l #2E% W1400 x D700 X H700 $Fa7) 36,400 = 36,260 35,450 (3~) = 35310 (3~) - = = - = =
5A1H 14|RE 929-136 |1/91/0DS f#12E¥W400 x D700 X H700%74 F/ODS-047-2-WH 15980 = 14510 15,370 (3~) = 13,900 (3~) - = = - = =
5A1H 14 RE 929-137 |4//7L/0DS B3#12E8W400 X D700 X H700FF15/,/0DS-047-2-NA | 15980 = 14510 15,370 (3~) = 13,900 (3~) - = = - = =
5A1H 14 RE 929-138 |4/91/0DS F#13E¥W400 x D700 X H700%74 F/ODS-047-3-WH 15980 = 14510 15,370 (3~) = 13,900 (3~) - = = - = =
5A1H 14 RE 929-139 |//7I/0DS BR#L3ERW400 X D700 X H7004F15/,/0DS-047-3-NA | 15980 = 14510 15,370 (3~) = 13,900 (3~) - = = - = =
5A1H 14|/RE 141-844 |1)71/0DS f##1.2EW400 x D700 X H700 &74k 17,180 = 16,510 16,570 (3~) = 15,900 (3~) - = = - = =
581H 14|KE 141-949 |1/%91/0DS K#L2E%W400 X D700 X H700 $Fa5) 17,180 = 16,510 16,570 (3~) = 15,900 (3~) - = = - = =
5818 14 RE 141-951 |1/%1/0DS f##1.3E%W400 x D700 X H700 #74 b 17,180 = 16,510 16,570 (3~) = 15,900 (3~) - = = - = =
5A1H 14| RE 142-262 |1/71/0DS f##1.3E¥W400 x D700 X H700 +Fa7)b 17,180 = 16,510 16,570 (3~) = 15,900 (3~) - = = - = =
5818 14 RE 929-140 |4//7I/0DW 73 V3E& W397 x D550 X H616 #74+/ODW-3 14600 = 13610 13,990 (3~) = 13,000 (3~) - = = - = =
5A1H 14 RE 141-648 |1/71/0DW 73°V3F% W397 X D550 X H616 #74+/ODW-3 15,800 = 14810 15,190 (3~) = 14,200 (3~) - = = - = =
5A1H 16| RE 172-976 |G)AhA3/E'5—"2VDT A4 4L W1000/8VD10H-MJ59 22800 = 21,800 - = - - = - - = -
5A1H 16| X8 172-977 |G)AH435/E'5—"2VDT 29 F4l W1200/8VD12H-MJ59 24800 = 23,800 - = - - = - - = -
5A1H 16| RE 172-978 |G)AhA5/E'5—2VDT A4 4L W1400/8VD14H-MJ59 29,800 = 28,800 - = - - = - - = -
5A1H 16| X8 172-979 |G)AH435/E'5—"2VDT 29 F4l W1600/8VD16H-MJ59 32,000 = 29,800 - = - - = - - = -
5A1H 16| RE 172-980 |G)AHAF/E'5—Y 2VDT A% Fr#h#l W1000/8VD20R-MJ59 46,400 = 44800 - = - - = - - = -
5A1H 16| RE 172-981 |G)AhA7/E'5—Y"2VDT A% Fr##4l W1200/8VD22R-MJ59 47,800 = 453800 - = - - = - - = -
5A1H 16| RE 172-982 |G)AhAF/E'5—Y 2VDT A% Fr#dh#l W1400/8VD24R-MJ59 55000 = 49,800 - = - - = - - = -
581H 16| RE 172-983 |G)AhA7/E'5— 2VDT A% W44l W1400/8VD34W-MJ59 76,600 = 753800 - = - - = - - = -
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5818 16| E 172-984 |G)AH4LF/E'5—Y 2VDT A% w4l W1600/8VD36W-MJ59 79,000 = 78,800 - = - - = - - = -
581H 16 X8 172-999 |G)AhLT/E'5— 1VDT R) 3-T4V9 7—7'Ib D850 35800 = 31,800 - = - - = - - = -
5818 16| RE 173-003 |G)AhA7/E'5—"aVDT A9 3—F4V9 77"k D1200 47,850 = 42,200 - = - - = - - = -
5A1H 16| RE 173-002 |G)AhAL7/E'5—Y"aVDT AY EHEIVF 77 L/8VDA4CE-MJ59 43,800 = 38,600 - = - - = - - = -
581H 16| RE 173-004 |G)AhAT/E 5= 2VDT AY E#EH 4 T7-7 )1./8VD4CS-MJI59 27950 = 26,800 - = - - = - - = -
5818 16| RE 172-987 |#h43/E'5=Y"2VDT'R) T A9by7 W4 W1000F 7107 — 9950 = 8,480 - = - - = - - = -
5818 16| RE 172-988 |Ah4L7/E'5—2VDT A) T A9by7"W 4L W1200A 74+7°)— 11,700 = 11,000 - = - - = - - = -
581H 16 X8 172-989 |Ah43/E'5—"2VDT R) T A9by 7' WAL W1400A 54+7 1 — 13550 = 13,000 - = - - = - - = -
5818 16| RE 172-990 |Ah4L7/E'5—"2VDT A) T A9by7"W 4L W1600F 74+7°)— 15300 = 14,400 - = - - = - - = -
581H 16 RE 172-991 |AA4L5/E'5—"2VDT 29 T R9by 7' 4 W1000F 4M7)=Y 9,950 = 8,600 - = - - = - - = -
581H 16| RE 172-992 |#h4L3/E'5—"2VDT R) T A9by7 "W 4 W1200/ 74M57)-V 11,700 = 11,000 - = - - = - - = -
581H 16|KE 172-993 |#h47/E'5—Y"aVDT A7 T A9y’ W1400R 74+97Y)-Y 13,550 = 13,000 - = - - = - - = -
5A1H 16| K8 172-994 |Ah4L3/E'5—"2VDT R) T A9by7 "W 4 W1600F 74+57)-Y 15,300 = 14,400 - = - - = - - = -
5818 16| X8 172-997 |#h47/E'5—"aVDT A9 4Vl BR 74070~ 5850 = 5,680 - = - - = - - = -
5A1H 16| K8 172-995 |#h47/E'5— 2VDT A9 4V R 34070 — 5850 = 5680 - = - - = - - = -
581H 16 RE 172-998 |#h47/E'5—Y2VDT A9 4V Wl BRFAM =Y 5850 = 5680 - = - - = - - = -
5A1H 16| K8 172-996 |#hA7/E'5—Y 2VDT A9 4V ERFAM =Y 5850 = 5680 - = - - = - - = -
5818 18|KE 577-893 |G)a93/BS+ R4U¥ =+ T7—7' IV W700 X D700/SD-BSN77LF11 33,140 = 32,100 31,640 (3~) = 31,640 (3~) - = = - = =
581H 18 K8 639-640 |G)193/BS+ M##iT A7 3EXC35| i -3¢ C35|H W1400 X D700 79,470 = 76,800 76,470 (3~) = 73,800 (3~) - = - - = -
5A1H 18|RE 639-631 |G)193/BS+ Mi#liT A9 3EXC35|H - 3EXC35|H W1600 x D700 83,390 = 79,800 80,390 (3~) = 77,800 (3~) - = = - = =
581H 18 K8 613-040 |G)393/BS+ T R) 2ERA25| Hi/SD-BSN47EA2F11N 36,060 = 34,800 34,560 (3~) = 32800 (3~) - = = - = =
581H 18 RE 613-032 |G)193/BS+ BT A9 V3ERV35|H/SD-BSN47EV3F11N 39,460 = 38,800 37,960 (3~) = 36,800 (3~) - = = - = =
581H 18 K8 173-160 |G)343/BS+ 73°Y 2E%A45| i /SD-BSN46A2F11N5 39,800 = 37,800 38,300 (3~) = 36,800 (3~) - = = - = =
5A1H 19|KE 581-528 |193/EFEFHSREIRA4V4' = T=7 )b H740%D730 ¥'L— 25,800 = 24,800 24,300 (3~) = 23,800 (3~) - = = - = =
5818 19 RE 173-150 |G)3Y3/EFEFASREET 29 H740%D730 3E% B4 §'L— 27,200 = 26,500 25,700 (3~) = 25500 (3~) - = - - = -
6A1H 19 RE 178-847 |193/E#EFSRE #1729 H740&E185M A FH7EL ¥'L— 33,710 = 34,800 - = - - = - - = -
6818 19| K8 134-508 |193/BS+ EFHAT A LERLYIHR1#K/A-SDS-M4CVF5 390 = 420 - = - - = - - = -
5A1H 20 RE 173-151 |G)3193/EFEFASRE F#7 29 H700xD700%W1000 4L — 29230 = 28,600 27,230 (3~) = 26,800 (3~) - = - - = -
5A1H 20 RE 173-152 |G)3Y3/E 5 FASRE F #1729 H700%D700%W1000 175 L— 29230 = 28,600 27,230 (3~) = 26,800 (3~) - = = - = =
5A1H 20 RE 173-153 |G)193/E #FASRE #1729 H700¥W1000 KB 29230 = 28,600 27,230 (3~) = 26,800 (3~) - = = - = =
5818 20 RE 173-154 |G)393/E#FASRE M #1729 3B H700%D700%W1400 ¥'L— 60,380 = 56,400 57,880 (3~) = 54,800 (3~) - = = - = -
5A1H 20 RE 173-155 |G)1Y3/EFEFASRE @M T A9 3B H700¥W1400 +F1705 L— 60,380 = 56,400 57,880 (3~) = 54800 (3~) - = - - = -
5818 20 RE 173-156 |G)3Y3/EFEFASRE M ##HT 29 3B H700%D700%W1400 A H 60,380 = 56,400 57,880 (3~) = 54,800 (3~) - = = - = -
5A1H 20KE 581-492 |293/FEFEFHSREIA4Y4' = T=7 )k H700%D700 ¥'L— 25500 = 24,800 24,000 (3~) = 23,800 (3~) - = = - = =
5A1H 20 RE 581-493 |193/FEFEFASRER4V4' =M 7=7)k H700%D700 +Fa75'L— 25500 = 24,800 24,000 (3~) = 23,800 (3~) - = = - = =
5A18 20 RE 173-157 |G)193/E ¥ FASREMT 29 H700%D600 3EX B4 &'L— 27,000 = 26,500 25,500 (3~) = 25,500 (3~) - = = - = -
5818 20 RE 173-158 |G)193/FEFFASREMT 2Y H700%D700 3E% B4 1505 L— 27,000 = 26,500 25,500 (3~) = 25500 (3~) - = = - = -
581H 20 K8 173-159 |G)373/EFEFASRE M T A9 H700%D700 KB 27,000 = 26,500 25,500 (3~) = 25,500 (3~) - = = - = =
5818 21| RE 929-172 |4/7I/LCW 73°V3E% W390 X D540 X H600 £74+/LCW-3 13,980 = 13400 13,380 (3~) = 12,800 (3~) - = = - = =
5A1H 21RE 929-173 |4/7T/WCW 73°V3E% W392 X D553 X H606 TF17)L/WCW-3NA 13,980 = 13,400 13,380 (3~) = 12,800 (3~) - = = - = =
5A1H 21 RE 929-187 |4/9L/AF—IT AJby7 W4 W1000 x D24 X H350 +74k 8400 = 8220 - = - - = - - = -
51H 21| RE 929-188 |1/9I/AF=NT A9by7° N2 W1200 X D24 x H350 H74b 9680 = 9,320 - = - - = - - = -
5818 21| RE 929-189 |4/9I/AF—IT AIby7 W4 W1400 x D24 X H350 +74k 10,800 = 10,330 - = - - = - - = -
6R1H 22 RE 682-271 |G)A%3/%¥ VAT AY iE600 X BL{T400 X Z X700 £74+ 19,000 = 19,800 18,000 (3~) = 18,800 (3~) - = = - = =
5818 23| RE 929-163 |1/91/SFD 7—47—7" bW1000 X D700 X H700#74+/SFD-107-WH 8680 = 8330 8,150 (3~) = 7,800 (3~) - = = - = =
5A1H 23| RE 929-164 |1/9I/SFD 7—47—7 LW1000 X D700 X H700FF13/L/SFD-107-NA 8680 = 8330 8,150 (3~) = 7,800 (3~) - = = - = =
5818 23| RE 929-165 |1/91/SFD 7—497—7"bW1200 X D700 X H700#74+/SFD-127-WH 9,180 = 8780 8,650 (3~) = 8,250 (3~) - = = - = =
5A1H 23| RE 929-166 |1/9I/SFD 7—47—7 JLlW1200 X D700 X H700FF13)L/SFD-127-NA 9,180 = 8780 8,650 (3~) = 8,250 (3~) - = = - = =
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5A1H 23|RE 929-167 |4/91/SFD 7—47—7" bW1400 X D700 X H700#74+/SFD-147-WH 10,250 = 10,100 9,720 (3~) = 9,570 (3~) - = = - = -
5A1H 23| RE 929-168 |1/91/SFD 7—497—7 WW1400 X D700 X H7004F17),/SFD-147-NA | 10,250 = 10,100 9,720 (3~) = 9,570 (3~) - = - - = =
5A1H 23| RE 194-262 |1/%I/LFD 7—47 A% W1000 X D700 X H700 %74} 9,800 = 9,800 - = 9,330 (3~) - = - - = _
581H 23| RE 194-263 |1/91/LFD 747 A% W1000 x D700 X H700 FF17)l 9,800 = 9,800 - = 9,330 (3~) - = - - = _
5A1H 23| RE 194-264 |1/%I/LFD 7—47 A% W1000 X D700 X H700 4'—47°39v 9,800 = 9,800 - = 9,330 (3~) - = - - = _
5A1H 23| RE 194-265 |1/91/LFD 747 A% W1200 x D700 X H700 #74F 10,350 = 10,350 - = 9,880 (3~) - = = - = _
5A1H 23| RE 194-266 |1/%I/LFD 7—47 A% W1200 X D700 X H700 F+¥a3)l 10,350 = 10,350 - = 9,880 (3~) - = - - = _
5818 23| RE 194-267 |1/9I/LFD 7—47 A% W1200 X D700 X H700 4'=47'3%Y 10,350 = 10,350 - = 9,880 (3~) - = - - = _
5A1H 23| RE 194-268 |1/%I/LFD 7—47 A% W1400 x D700 X H700 %74} 11,000 = 11,000 - = 10,530 (3~) - = - - = _
5A1H 23| RE 194-269 |1/9I/LFD 747 A% W1400 x D700 X H700 FF17)l 11,000 = 11,000 - = 10,530 (3~) - = - - = _
581H 23| RE 194-270 |{/%I/LFD 7—47 A% W1400 X D700 X H700 4'—47'39Y 11,000 = 11,000 - = 10,530 (3~) - = - - = _
5A1H 23| RE 929-172 |4/7I/LCW 73°3E% W390 X D540 X H600 74 +/LCW-3 13,980 = 13,400 13,380 (3~) = 12,800 (3~) - = = - = -
5A1H 23| RE 929-173 |4/9I/WCW 73°V3E% W392 X D553 X H606 TF17)L/WCW-3NA 13,980 = 13,400 13,380 (3~) = 12,800 (3~) - = - - = =
518 24 RE 138-795 |NKY/7—%Y%'7'A% W1000 X D600 X H700 %74+ 7980 = 7,880 - = - - = = - = -
581H 24| RE 138-796 |NKY/7—%Y%"F 249 W1000 x D600 X H700 74/l Fvb 7,980 =  7.880 - = = - = - - = _
518 24 RE 138-799 |NKY/7—%Y%"7'A% W1000 X D700 X H700 %74+ 8580 = 8,480 - = - - = = - = -
581H 24| RE 138-800 |NKY/7—%Y%"F 249 W1000 X D700 X H700 74/l +vb 8580 = 8480 - = = - = - - = _
518 24 RE 138-797 |NKY/7—%Y%'7'A% W1200 X D600 X H700 %74+ 8980 = 8,880 - = - - = = - = -
581H 24| RE 138-798 |NKY/7—%Y%"F 249 W1200 x D600 X H700 74/l +vb 8980 = 8880 - = = - = - - = _
518 24 RE 138-801 |NKY/7—%Y%'7'A% W1200 X D700 X H700 %74+ 9,580 = 9,480 - = - - = = - = -
581H 24| RE 138-802 |NKY/7—%Y%"F 249 W1200 X D700 X H700 74/l Fvb 9580 = 9480 - = = - = - - = _
5A1H 24| RE 138-803 |NKY/7—%Y%"7 2% W1400 x D700 X H700 £74+ 11,800 = 11,500 - = - - = - - = _
581H 24| RE 138-804 |NKY/7—%Y%"T 249 W1400 X D700 X H700 74/l Fvb 11,800 = 11,500 - = = - = - - = _
5A1H 24| RE 138-780 |NKY/7—%V9'7"A% Fr##i W1000 X D600 X H700 %7} 21,800 = 21,000 - = - - = - - = _
5A18 24 RE 138-781 |NKY/T—=%%9 7 A% Fr#h W1000 X D600 X H700 7L Fyb 21,800 = 21,000 - = - - = = - = -
5A1H 24| RE 138-784 |NKY/7—%V9'7'A% Fr##i W1000 X D700 X H700 %74} 22,800 = 22,000 - = - - = - - = _
518 24 RE 138-785 |NKY/7—%V9"T' 29 Fr#h W1000 X D700 X H700 J#)LFvh 22,800 = 22,000 - = - - = - - = _
5A1H 24| RE 138-782 |NKY/7—%V9'7'A% Fr##i W1200 X D600 X H700 %74} 22,800 = 22,000 - = - - = - - = _
5A1H 24 RE 138-783 |NKY/T—%49 7 A% Fr#dh W1200 X D600 X H700 7L Fyb 22,800 = 22,000 - = - - = - - = _
5A1H 24| RE 138-786 |NKY/7—%V9'7'2% Fr##i W1200 X D700 X H700 %74} 23,800 = 23,000 - = - - = - - = _
5A1H 24| RE 138-787 |NKY/7—=%9 7 A% Fr#h W1200 X D700 X H700 J#)LF9b 23,800 = 23,000 - = - - = - - = _
5A1H 24| RE 138-788 |NKY/7—%V7'7°2% Fr#fi W1400 X D700 x H700 %74k 25,800 = 25000 - = - - = = - = -
5A1H 24| RE 138-789 |NKY/7—%9 7 A% Fr#h W1400 X D700 X H700 J#)LFyb 25800 = 25000 - = - - = - - = _
518 24 RE 138-791 |NKY/7—%Y9'7 'A% 3E%73°Y W412 X D500 X H620 %74+ 14,800 = 14,200 - = - - = = - = -
5A1H 24| REB 138-790 |NKY/7—3%V4'7 A% 3E&732°Y W412 X D500 X H620 4/ vt 14,800 = 14,200 - = = - = - - = _
5A1H 24| RE 138-805 |NKY/7—%v%'7'2% Li&EHA W1000 X D280 X H453 #74+ 5580 = 5470 - = = - = - - = _
5818 24 RE 138-806 |NKY/7—%U9'7'2% LE&E# W1000 X D280 x H453 4/l Fyk 5580 = 5470 - = - - = = - = -
5A1H 24 RE 138-809 |NKY/7—%V7' 729 LEHA W1400 X D280 x H453 H74} 6,980 = 6,870 - = - - = - - = _
5A1H 24| RE 138-810 |NKY/7—%V9'7'29 L&E# W1400 X D280 X H453 4/l 1k 6,980 = 6,870 - = - - = - - = _
5A1H 24| KR8 138-811 |NKY/7—%Y9 729 EEN{Y1)l7 W1000 X D280 X H753 £71+ 8580 = 8470 - = - - = = - = -
5A1H 24| RE 138-812 |NKY/7—%V9'7'29 L& Y1)k7 W1000 X D280 X H753 41Tk 8580 = 8470 - = - - = - - = _
5A1H 24| KR8 138-813 |NKY/7—%V9 729 LEN{Y1l7 W1200 X D280 X H753 #74+ 9580 = 9470 - = - - = - - = -
5A1H 24| RE 138-814 |NKY/7—%V9'7'29 L& Y1)b7 W1200 X D280 X H753 4Tk 9,580 = 9470 - = - - = - - = _
5A1H 24| KR8 138-815 |NKY/7-%V7 729 EEN Y1)l7 W1400 X D280 X H753 71+ 10,500 = 10,200 - = - - = = - = -
5A1H 24| RE 138-816 |NKY/7—%U9'7'29 E&EnMY1)k7 W1400 X D280 X H753 4l Tk 10,500 = 10,200 - = - - = - - = _
6R1H 25| KR8 135-159 |Garage/T AJAF £FHH947° W1200 x D600 X H700 K 23,400 = 24800 - = - - = - - = _
581H 25| RE 135-167 |Garage/T AJAF £ #£447° W1200 X D600 X H700 KB 27,600 = 26,800 - = - - = - - = _
5818 25 RE 135-175 |Garage/T AYAF A 447" W1200 X D600 x H700 ;EKH 27,600 = 26,800 - = - - = - - = _
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5818 25| RE 135-160 |Garage/T AJAF £FHH5947° W1200 X D700 X H700 B 26,700 = 25,800 - = - - = - - = -
581H 25 RE 135-168 |Garage/T AJAF £ #£447° W1200 X D700 X H700 KB 30,800 = 26,600 - = - - = - - = -
5A81H 25 RE 135-176 |Garage/T AJAF £ #£447° W1200 x D700 X H700 ;2K H 30,800 = 26,600 - = - - = - - = -
581H 25 RE 135-161 |Garage/T AJAF £/ #£447° W1400 x D600 X H700 B 27400 = 26,800 - = - - = - - = -
5A81H 25 RE 135-169 |Garage/T AJAF £ #5447° W1400 x D600 X H700 KB 31,000 = 29,800 - = - - = - - = -
581H 25 RE 135-177 |Garage/T AJAF £ #£447° W1400 x D600 X H700 ;R A H 31,000 = 29,800 - = - - = - - = -
5818 25| RE 135-162 |Garage/T AJAF £FHH5947° W1400 X D700 X H700 B 30,100 = 27,800 - = - - = - - = -
581H 25 RE 135-170 |Garage/T AJAF £ #£447° W1400 x D700 X H700 KB 34300 = 29,800 - = - - = - - = -
5A81H 25 B 135-178 |Garage/T AJAF £/ #£447° W1400 x D700 X H700 ;2K H 34300 = 29,800 - = - - = - - = -
6818 25 %8 135-163 |Garage/T AJAF £FHH5447° W1600 X D600 X H700 K 31,700 = 32,800 - = - - = - - = -
581H 25 RE 135-171 |Garage/T A9AF £FHH5447° W1600 X D600 x H700 KB 35700 = 34800 - = - - = - - = -
581H 25 %8 135-179 |Garage/T A9AF £FHH5447° W1600 x D600 X H700 ;2K B 35700 = 34,800 - = - - = - - = -
581H 25 RE 135-164 |Garage/T AJAF £FH#54947° W1600 X D700 X H700 B 34,700 = 33,800 - = - - = - - = -
5A1H 25| RE 135-172 |Garage/T A9AF £FH#5447° W1600 X D700 X H700 KB 38,900 = 34,600 - = - - = - - = -
581H 25 RE 135-180 |Garage/T AJAF £ #£447° W1600 x D700 X H700 ;2K H 38,900 = 34,600 - = - - = - - = -
581H 25 %8 135-196 |Garage/T AJAF tv4—5|H(BE{TE)8 W502 x D485 X H52 10,500 = 9,980 - = - - = - - = -
581H 25 RE 135-197 |Garage/T AYAF tU4—5|H(E{FE)E W502 X D485 X H52 10500 = 9,980 - = - - = - - = -
581H 26 RE 135-183 |Garage/T AJAF LELESFER AR W400 X D700 X H700 H 17,200 = 16,800 - = - - = - - = -
581H 26 RE 135-184 |Garage/T AJAF LEVE#ER R W400 x D700 x H700 K B 19,500 = 18,800 - = - - = - - = -
581H 26 RE 135-185 |Garage/T AYAF LESEHKER MR W400 x D700 X H700 ;EAK B 19,500 = 18,800 - = - - = - - = -
581H 26 RE 135-186 |Garage/T AJAF EEI447° /& W1200 X D760 X H700 28400 = 28,200 - = - - = - - = -
581H 26 RE 135-187 |Garage/T AYAF EE447°45 W1200 X D760 X H700 28,400 = 28,200 - = - - = - - = -
581H 26 RE 135-188 |Garage/T AYAF 447/ W1400 X D760 X H700 34,000 = 33,800 - = - - = - - = -
5A1H 26| RE 135-189 |Garage/T AJAF EFE447°45 W1400 X D760 X H700 34000 = 33,3800 - = - - = - - = -
5818 26 RE 135-190 |Garage/T AYAF ME!447° W1600 X D700 X H700 36,300 = 353800 - = - - = - - = -
581H 26 RE 135-191 |Garage/7 AYAF ME!447° W1800 x D700 X H700 39,900 = 39,800 - = - - = - - = -
581H 26 RE 135-192 |Garage/T AJAF LE!447° A& W1200 x D1000 X H700 37,200 = 36,800 - = - - = - - = -
581H 26 RE 135-193 |Garage/T AJAF LE!447°45 W1200 x D1000 x H700 37,200 = 36,800 - = - - = - - = -
581H 26 RE 135-194 |Garage/T AJAF LE!447° W1200 x D1200 X H700 51,600 = 51,400 - = - - = - - = -
5A1H 26| RE 135-195 |Garage/T AYAF LE!447"135F X4k W1717 x D1135 X H700 49,600 = 49,400 - = - - = - - = -
5A1H 28 RE 696-248 |7—-I7-¥Yh7//VL T AGH4E RN WA00 +F17)) 9237 = 7480 - = - - = - - = -
5A1H 28| RE 696247 |7—N-17-%Yh7// L T AGHANIRER WA00 5'—H7'590 9237 = 7480 - = - - = - - = -
5818 28 RE 696-250 |7—-I7-¥Y¥A7//LA T A9YA ISR W400 K74+ 9,237 = 7480 - = - - = - - = -
6818 30 RE 127-106 |¥Y9°Y ' L/T R9K = USBN7 fi+&E/THDBU-20W 3500 = 3780 - = - - = - - = -
6A1H 30 RE 127-104 |¥V9°Y ' L/7 29K =" /8501 2,759 = 2980 - = - - = - - = -
5818 31| RE 634-223 |G)a93/YAAN=ACT A9YzIW110071+ L—/EAS-DSC8033M 12560 = 11,800 - = - - = - - = -
5A1H 32| RE 633-228 |G)aY3/Fzvh 79IV A4F/RFL-A4 270 = 250 - = - - = - - = -
51H 32| RE 633-229 |G)a¥3/VFzlvh 7' v9IV BAF/RFL-B4 340 = 306 - = - - = - - = -
581H 34| RE 135-109 |Garage/at 7473V ARS! W500 x D395 X H357 B 6,990 = 6,600 - = - - = - - = -
5A1H 34| RE 135-110 |Garage/at 774873 VK& W500 X D395 x H357 KB 6,990 = 6,600 - = - - = - - = -
581H 34| RE 135-111 |Garage/at 7473 VA% W500 X D395 X H357 4be"—F 6,990 = 6,600 - = - - = - - = -
5A1H 34| RE 135-112 |Garage/at 77473V AKE! W500 X D395 X H357 4'—=41'7'3 6,990 = 6,600 - = - - = - - = -
6A1H 38| KE 110-678 |G)373/Y=774Y W#N7E L% LIE 18008217600 K74 M FaTll 36,820 = 37,800 - = - - = - - = -
6R1H 38 RE 699-746 |G)a93/)-774Y N1 7EL #i%EL W1800 x D600 36,820 = 37,800 - = - - = - - = -
6A1H 38| KE 113-364 |G)373/Y=774Y W4+ 7z LIE1800847600 #74++Fa7)l 44,660 = 45800 - = - - = - - = -
6R1H 38 RE 699-750 |G)a93/=774Y W1 f+E 4L W1800 x D600 44,660 = 45800 - = - - = - - = -
5A1H 40 RE 929-386 |1/7I/KSPA#YIT=7'I WE1500 47 Vav B/ +1E74b 3420 = 3,320 - = - - = - - = -
5A81H 40|RE 929-387 |1/7L/KSPA%997-7' I W&1500 47 Vav iR/ +4+F17) 3420 = 3320 - = - - = - - = -
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581H 40|RE 929-388 |1/7L/KSPA#9)7—7'Il WE1800 47 Vav MR/ +4E74b 3640 = 3540 - = - - = - - = -
5A1H 40 RE 929-389 |1/7L/KSPA4y)7=7'IV W&1800R47 Y av iR/ 4+ F17) 3640 = 3540 - = - - = - - = -
681H 40|RE 172-957 |G)TAYAFM/T4=NT V9 T-7' IV E & W1500 £74+ 21,200 = 23800 - = - - = - - = -
6R1H 40 RE 172-958 |G)TAYAFM/T4=NT 4V9 7=7 I F5E W1500 FF270l 21,200 = 23,800 - = - - = - - = -
681H 40|RE 172-959 |G)TYAFM/T4=NT V9 T-7 IV FHE W1800 £74+ 22,130 = 24800 - = - - = - - = -
6R1H 40 RE 172-960 |G)TAYAFM/T4=NT 4V9 7=7 I F5E W1800 FF27ll 22,130 = 24,800 - = - - = - - = -
681H 40|RE 172-961 |G)T1YAFM/T4=NT V9 T=7 IV F{F W1500 £74+ 27,450 = 29,800 - = - - = - - = -
6R1H 40 RE 172-962 |G)TA)VAFM/74=NT 4V9 7=7 I BAF W1500 FF270L 27,450 = 29,800 - = - - = - - = -
681H 40|RE 172-963 |G)T1YAFM/T4=NT V9 T=7' IV F{F W1800 £74+ 28,400 = 30,800 - = - - = - - = -
6818 40|RE 172-964 |G)TAVAFM/74=NT 4V9 7=7 v Bt W1800 FF27)l 28,400 = 30,800 - = - - = - - = -
6818 411|RE 929-402 |G)TAYRFM/$rYT=T=#&T-7 b #i7%L/W1800 X D450/K71 b 11,200 = 13,800 10,800 (4~) = 11,800 (4~) - = = - = =
6818 4M|RE 929-403 |G)71YAFM/$YT=F=#&T—7 ) %L/ W1800 X D450/FFa7)l 11,200 = 13,800 10,800 (4~) = 11,800 (4~) - = = - = =
6818 41|RE 929-404 |G)TAYARFM/$YWT=T=#&T-7 b #i7%L/W1800 X D450/A—R" 11,200 = 13,800 10,800 (4~) = 11,800 (4~) - = = - = =
6818 4M|RE 929-405 |G)TAYAFM/$YT=f=AT-7 ) #i%L/W1800 x D600/H7{ b 12,200 = 14,800 11,800 (4~) = 12,800 (4~) - = = - = =
6818 411|RE 929-406 |G)TAYRFM/$rYT=T=#&T-7 )b #i7%L/W1800 X D600/+F17) 12200 = 14,800 11,800 (4~) = 12,800 (4~) - = = - = =
6818 4M|RE 929-407 |G)TAYAFM/$YT=f=FAT-7 ) Hi%L/W1800 x D600/0—A’ 12,200 = 14,800 11,800 (4~) = 12,800 (4~) - = = - = =
6818 ER] 135-218 |G)74Y)AFr/SUPERA Bty 7 AYLT—7' )k W1500 X D450 #fi%iL 11,500 = 12,800 11,000 (4~) = 11,800 (4~) - = = - = =
681H 4M|RE 135-219 |G)74JAFM/SUPERA Sy 7 RYLT—7')k W1500 X D450 #fifFE 12,750 = 14,800 12,250 (4~) = 13,800 (4~) - = = - = =
6818 ER] 125-195 |G)7{)AFr/SUPERA By 7 AYLT—7')k W1800 X D450 #fi%iL 13,220 = 13,800 12,720 (4~) = 12,800 (4~) - = = - = =
5A1H 2RE 347-118 |4/n1/FRIFTYF=1=#&7-7")L W1500 X D450 X H700 ¥—% 9,080 = 9,080 - = 8,580 (4~) - = = - = =
5A1H 42| RE 347-119 |{/91/LERIFYT=f=HT7-7' )L W1500 X D450 X H700 74+ 9,080 = 9,080 - = 8,580 (4~) - = = - = =
5A1H 2 RE8 347-120 |4/91/ERIFYF=1=#7-7")L W1500 X D600 X H700 F—% 11,160 = 11,160 - = 10,660 (4~) - = = - = =
5A1H 42| RE 347-121 {/91/£ERIFYT=f=HT7-7' )L W1500 X D600 X H700 74+ 11,160 = 11,160 - = 10,660 (4~) - = = - = =
5A1H 2R 347-122 |4/91/SERAIFTYF=1=#&7-7")L W1800 X D450 X H700 ¥—% 9,080 = 9,080 - = 8,580 (4~) - = = - = =
5A1H 12| RE 347-123 {/91/EERIFYT=1=HT7-7 )L W1800 X D450 X H700 74+ 9,080 = 9,080 - = 8,580 (4~) - = = - = =
5A1H 2 RE 347-124 |4/91/SZRAFY =f=#&7-7")) W1800 X D450 X H700 A-Z’ 9,080 = 9,080 - = 8,580 (4~) - = = - = =
5A1H 12| RE 347-125 {/91/£ERIFY1=#HT7-7')L W1800 X D600 X H700 F—% 11,160 = 11,160 - = 10,660 (4~) - = = - = =
5A1H 2 RE 347-126 |4/9L/ERAIFTY=1=#7-7")L W1800 X D600 X H700 &7+ 11,160 = 11,160 - = 10,660 (4~) - = = - = =
5A1H 12| RE 347-127 4/91/£ERIFY-1=#HT7-7')L W1800 X D600 X H700 A—-A’ 11,160 = 11,160 - = 10,660 (4~) - = = - = =
5A1H 2R 141-373 |1/91/£EARYT=f=AT-7 L W1500 x D450 x H700 F—% 10,280 = 10,280 - = 9,780 (4~) - = = - = =
5A1H 12| RE 141-388 |1/91/KEAFYI=1=#&T7-7")l W1500 X D450 X H700 K71} 10,280 = 10,280 - = 9,780 (4~) - = = - = =
5A1H 2R 141-399 |1/91/£EARYT=f=AT-7 L W1500 x D600 x H700 F—% 12,360 = 12,360 - = 11,860 (4~) - = = - = =
5A1H 42| RE 141-415 |1/91/KERAFYI=1=#&T7-7")) W1500 x D600 X H700 K71} 12,360 = 12,360 - = 11,860 (4~) - = = - = =
5A1H 2R 141-423 |1/91/£EARYT=f=AT-7 L W1800 x D450 x H700 F—% 10,280 = 10,280 - = 9,780 (4~) - = = - = =
5A1H 42| RE 141-464 |1/91/KERAFYI=T=#&T7-7")) W1800 X D450 X H700 K71} 10,280 = 10,280 - = 9,780 (4~) - = = - = =
5A1H 2 RE 141-469 |{1/91/£EARYT=f=AT-7 L W1800 x D450 X H700 O—A’ 10,280 = 10,280 - = 9,780 (4~) - = = - = =
5A1H 12| RE 141-529 |1/91/KERAFYI=1=#&T7-7")) W1800 x D600 X H700 ¥—% 12,360 = 12,360 - = 11,860 (4~) - = = - = =
5A1H 2 RE 141-530 |1/91/ =AY I=1=#&7-7 )L W1800 x D600 X H700 %74+ 12,360 = 12,360 - = 11,860 (4~) - = = - = =
5A1H 42|R8 141-536 |1/91/KEZAFYI=1=#&T7-7)) W1800 x D600 X H700 A-Z 12,360 = 12,360 - = 11,860 (4~) - = = - = =
681H 422|RE 633-803 |G)aY3/HF Y F=t=A K 7—7 IVKT-40 FO4L W1800*xD450F—% 10,020 = 10,700 9,540 (4~) = 9,800 (4~) - = = - = =
6818 2|RE 633-802 |G)a/3/MN3F Y =1=#HKT-7 WKT-40 FI4L W1800+D4500—-R’ 10,020 = 10,700 9,540 (4~) = 9,800 (4~) - = = - = =
6A1H 42| X8 615-873 |G)AY3/REBAT-7 WKT-30 #i{+E W1800+D450 +F151L5 L~ 10,800 = 11,800 - = 10,800 (4~) - = = - = =
6A1H 42|R8 615-875 |G)193/ =5 FAT—7 WKT-30 #i{+E= W1800%D450 F—4 10,800 = 11,800 - = 10,800 (4~) - = = - = =
6R1H 2 RE 615-874 |G)aY3/£EAT—7 WKT-30 Hi{+E W1800%D450 O—R"Jyb 10,800 = 11,800 - = 10,800 (4~) - = = - = =
5A1H 42|R8 615-876 |G)1Y3/£EAT—7 IWKT-30 HA{+E W1800%D600 +F17)L4 L— 13,640 = 13,640 - = 12,800 (4~) - = = - = =
5A1H 2R8 615-878 |G)2Y3/£EAT-7 VKT-30 #ifFE W1800+xD600 F—4 13,640 = 13,640 - = 12,800 (4~) - = = - = =
5A1H 42| R8 615-877 |G)AY3/EEAT-7 VKT-30 HifTE W1800%D600 A—R 'k 13,640 = 13,640 - = 12,800 (4~) - = = - = =
681H 4\ xE 632-548 |G)293/¥4—Y A»+S350 TEFT A7 W1600 MGS35D1685P1UNN 108,750 = 118,000 - = - - = - - = -
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6818 4R 632-546 |G)393/I#—Y *U+S350 FrHliT A% W1400 MGS35D1485P1UNN 76,500 = 84,800 - = - - = - - = -
6H1H 14 RE 632-555 |G)a¥3/33— Av+S350 Oyh— (1 A FH) W600 MGS35LKP1UN3 52,270 = 59,800 - = - - = - - = -
6A1H 4| x8 632-553 |G)193/¥%—Y AUbS350 MIRA=EH FARE) W898 69,150 = 77,800 - = - - = - - = -
681H 4\RE 632-550 |G)a93/ %= #v+S350 MIBA=EMI(REE) W98 68,320 = 76,800 - = - - = - - = -
6A1H 4| x8 632-552 |G)393/I4—Y AUbS350 HAF vt 2y bAFARE) WI05 48970 = 52,800 - = - - = - - = -
681H 4\RE 632-551 |G)293/¥4—Y #UrS350 H4F $rt %y MAKREE) W05 47,250 = 51,800 - = - - = - - = -
6818 4| x8 632-558 |G)a73/¥4—Y FUbS350 H4FEF —F W1200 MGS35SBP1UN3 72,370 = 74,800 - = - - = - - = -
6R1H 45 RE 979-972 |G)AYA/IHEMIA AN =YR T—LF17— L= 7599 /CE-845VXE6 25760 = 27,800 - = - - = - - = -
6A1H 45|RE 979-973 |G)AYA/ AR A =YR T—LF17— LY = §=H7'39Y 25760 = 27800 - = - - = - - = -
6R1H 45 RE 191-525 |G)I73/[¥E A —VA 7T-LF17— %1 7399 28,420 = 30,800 - = - - = - - = -
6A1H 45 KR8 191-526 |G)IY3/ 8% A'—VR 7—LF17— 1 Tyva)L— 28420 = 30,800 - = - - = - - = -
6818 45| RE 975-098 |G)AYI/FEEAR A =VR 2 ATV 77— LY = 7'59% 37,660 = 39,800 - = - - = - - = -
681H 45 K8 975-100 |G)AYA/HEAA A =VR 2 A#MTY 77— L= §=97'59Y 37,660 = 39,800 - = - - = - - = -
6818 45| RE 191-524 |G)IYA/I5HE A=V R 2 N TY77— F1 7999 42,070 = 44800 - = - - = - - = -
6818 45\ x%E 191-527 |G)IYA/FGHE A=V R 2 N #NFY 77— %1 Tobad - 42,070 = 44800 - = - - = - - = -
6R1H 47| RE 929-272 |293/9° =74 M) 73990zl BHEEL 7999 30,420 = 34,800 - = 33,720 (4~) - = = - = =
6A1H 47\RE 929-273 |293/9 =74+ MY 73991l BHEEL VI L— 30,420 = 34800 - = 33,720 (4~) - = = - = =
6R1H 47| RE 929-274 |293/9 =74 MY 739901l BEEL WY TUT - 30,420 = 34,800 - = 33,720 (4~) - = = - = =
6A1H 47\RE 929-275 |293/9 =74 M) 739901l BTEL 4-14& 30,420 = 34800 - = 33,720 (4~) - = = - = =
6R1H 47| RE 929-276 |293/9 =74 M) 739901l BiEL 40 )y 30,420 = 34,800 - = 33,720 (4~) - = = - = =
6A1H 47\RE 929-267 |3193/9° =74 M) 73991l CERIRF 7°599 36,270 = 39,800 - = 38,720 (4~) - = = - = =
6R1H 47| RE 929-268 |293/9 =74 M) 73991l CERIEE VI L— 36,270 = 39,800 - = 38,720 (4~) - = = - = =
6A1H 47\RE 929-269 |293/9' =724 MY 75991l CEIR WY TY7 I~ 36,270 = 39,800 - = 38,720 (4~) - = = - = =
6818 47|RE 929-270 |293/9° =74 M99 75991l CERIFF 4-04 R’ 36,270 = 39,800 - = 38720 (4~) - = = - = =
6A1H 471\RE 929-271 |293/9 =74 M) 73991l CEIEF 4% 1)y 36,270 = 39,800 - = 38,720 (4~) - = = - = =
5A1H 47|RE 929-282 |293/9° =74 B=n\"v 7 Fvhval REEL 7599 30420 = 29,800 28,720 (4~) = 28720 (4~) - = = - = =
5A1H 471 RE 929-283 |293/9 =74 B—n"v) 73991l BEL VI L— 30420 = 29,800 28,720 (4~) = 28,720 (4~) - = = - = =
5A1H 47| RE 929-284 |293/9' =74 B—n"v) 7'5vhv1l R7EL TNYTUT - 30,420 = 29,800 28,720 (4~) = 28,720 (4~) - = = - = =
5A1H 471 RE 929-285 |293/9' =74 B=n\"v) 7'399v1l FEEL 4-14R° 30420 = 29,800 28,720 (4~) = 28,720 (4~) - = = - = =
5A1H 47| RE 929-286 |193/9' =74 B—n"vY 7'Fvhv1l REL 4uY 1)y 30,420 = 29,800 28,720 (4~) = 28,720 (4~) - = = - = =
6A1H 471\RE 929-277 |393/9" =74 O—nN"v) 7°399Y1l CEIEF 7°599 36,270 = 36,800 35,720 (4~) = 35,720 (4~) - = = - = =
681H 47\RE 929-278 |293/9' =74 B—n"v9 7°5vhv1l CEIEF YIM V- 36,270 = 36,800 35,720 (4~) = 35,720 (4~) - = = - = =
6A1H 471\RE 929-279 |293/9' =74 B—n\"vY 7599 v1l CEUR TNV TUT I~ 36,270 = 36,800 35,720 (4~) = 35,720 (4~) - = = - = =
6R1H 47| RE 929-280 |293/9' =74 B—n"v¥ 7°Fvhv1l CEIFF 4-24 R’ 36,270 = 36,800 35,720 (4~) = 35,720 (4~) - = = - = =
6818 471 %E8 929-281 |293/9' =74 B—=iy) 73991l CEIBT 4u¥ 1)y 36,270 = 36,800 35,720 (4~) = 35,720 (4~) - = = - = =
6818 49| RE 929-289 |G)AY3/I4% =2 7°399v1l B—n'v) REEL 7599 36,010 = 38,800 34,930 (4~) = 35,800 (4~) - = = - = =
6A1H 49|RE 929-290 |G)AY3/ 1Y =2 7Fvhyal A—n"vY FH7EL YR L— 36,010 = 38,800 34,930 (4~) = 35800 (4~) - = = - = =
6A1H 49| K8 929-291 |G)A%3/ 1% =F2 7yl B—n"vy AL W7 Y7 h— 36,010 = 38,800 34,930 (4~) = 35,800 (4~) - = = - = =
6A1H 49|RE 929-292 |G)AY3/4% =F2 7FvhvIl B—n'vy R7EL F4MY-7 36,010 = 38,800 34,930 (4~) = 35800 (4~) - = = - = =
6A1H 49| K8 929-293 |G)A%3/ 4% =2 7 FvhvLl B—n'vh REEL 4uY 1)y 36,010 = 38,800 34,930 (4~) = 35,800 (4~) - = = - = =
6818 49|RE 929-294 |G)AY3/ Y =F2 7Fvhy A—n'vY) TR 7599 42,705 = 44800 41,625 (4~) = 42800 (4~) - = = - = =
6A1H 49| K8 929-295 |G)A%3/ 4% =2 7°Fvhval B—n'vh TR YIM'L— 42705 = 44,800 41,625 (4~) = 42,800 (4~) - = = - = =
6818 49|RE 929-296 |G)AY3/ 4% —F2 7 FvhvTl B-n'vh TRIE 7707 - 427705 = 44,800 41,625 (4~) = 42,800 (4~) - = - - = -
6A1H 49| K8 929-297 |G)A%3/ 1% =F2 7Fvhval B—n'yy TR 34047 42705 = 44,800 41,625 (4~) = 42,800 (4~) - = = - = =
6A1H 49 RE 929-298 |G)A93/V4Y =12 73991l O—n"v) TERIF 409 1)y 42,705 = 44,800 41,625 (4~) = 42,800 (4~) - = = - = =
581H 52| RE 135-212 |G)74JAFMz/[ElERMR B4l ALYy /BIT-BX45L0-F-0G 12,500 = 11,800 11,980 (4~) = 11,000 (4~) - = = - = =
5818 52| RE 135-213 |G)74JAFMz/[EIERMA BH74:L 7')b—/BIT-BX45L0-F-BL 12,500 = 11,800 11,980 (4~) = 11,000 (4~) - = = - = =
581H 52| RE 135-214 |G)T4YAFM/[EERMR B4zl 7'59%/BIT-BX45L0-F-BK 12,500 = 11,800 11,980 (4~) = 11,000 (4~) - = = - = =
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5A1H 52 RE 135-215 |G)74)AFM/[EIER4R FHF 4LYY'/BIT-BX45L1-F-0OG 15000 = 14,800 14,480 (4~) = 14,200 (4~) = = = -
5818 52| RE 135-216 |G)7{YAFM/[EERAR B4t 7' L—/BIT-BX45L1-F-BL 15000 = 14,800 14,480 (4~) = 14,200 (4~) - = = - = -
SH1H 52| %8 135-217 |G)74Y)AFht/EER/R Bt 7°794/BIT-BX45L1-F-BK 15000 = 14,800 14,480 (4~) = 14200 (4~) - = = - = -
5818 52| RE 577-257 |G)74JAF/BIT-EX 4')—V/Z-BIT-EX-4")--C 10000 = 9,980 9,480 (4~) = 9,480 (4~) - = - - = =
5A1H 52 RE 577-258 |G)FAJAFM/BIT-EX 4¥'L—/Z-BIT-EX-4'L—-C 10000 = 9,980 9,480 (4~) = 9,480 (4~) - = - - = _
5818 52| RE 577-259 |G)74'JAF/BIT-EX 7'V—/Z-BIT-EX-7 ]Ll-—C 10000 = 9,980 9,480 (4~) = 9,480 (4~) - = = - = -
5818 52| RE 577-260 |G)7{YAFM/BIT-EX Bt 4'Y-V/Z-BIT-EXA-)")-Y 15770 = 14,280 15,250 (4~) = 13,800 (4~) - = = - = _
5818 52| RE 577-261 |G)TAYAFM/BIT-EX Ftft ' L—/Z-BIT-EXA-)'L- 15770 = 14,280 15,250 (4~) = 13,800 (4~) - = = - = -
5A1H 52 RE 577-262 |G)7{)AFr/BIT-EX Bt 1t 7' IV—/Z-BIT-EXA-7' V- 15770 = 14,280 15,250 (4~) = 13,800 (4~) - = - - = =
6R1H 53| RE 646-990 |G)1Y3/4—Y EHEUEERE Lyb F00%rR4— 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = -
6A1H 53| K2 646-994 |G)2Y3/4—Y% EBRYBERE 1LV F400%vR- 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = _
6A1H 53 K& 646-547 |G)173/4—Y% BERYEBERG )-77")- T40U%vR4- 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = -
6A1H 53| K8 646-545 |G)23/4—Y% EIERUEBERE 1)-79)-Y T4AV3+R5— 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = _
6R1H 53| RE 682-093 |G)AY3/4—Y% EERYBERE 7' — F1005rR5— 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = -
6818 53 RE 646-997 |G)AY3/1—% BHRYEERE Y7+ - F4OVFvR - 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = -
6R1H 53| RE 646-991 |G)AY3/4—Y% ERYBERE JL— HO03rR5— 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = -
6A1H 53| K8 646-993 |G)2Y3/4—Y THEYBERIE 7797 T4003vR - 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = _
6R1H 53| RE 682-100 |G)AY3/4—Y E#EUEERIE Lyb F00%rR4— 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = -
6A1H 53| K8 613-183 |G)2Y3/4—Y% ERYBERIE 1LV F4O%vR- 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = _
6R1H 53| RE 613-186 |G)AY3/4—Y EHRYBERIE V-75)-Y HOVF+R5— 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = -
6A1H 53| K8 682-098 |G)AY3/4—Y% EIERUBERIE 1)-79)-Y T4AVF+R5— 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = _
6R1H 53| RE 613-184 |G)AY3/4—4% EHRYBERIE 7' - F100%rR5— 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = -
6A1H 53| K8 682-099 |G)AY3/4—Y EHRYEBERIE YI7M7 - TAAVF4RE— 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = = - = _
6R1H 53| KR8 613-185 |G)2Y3/4—% BRYSERIE ¥'L— H1OvFvR - 17,480 = 18,200 16,610 (4~) = 17,400 (4~) - = - - = -
6818 55| RE 671-642 |G)Thn' ¥y /OHFLT 7')b—/RZC-N02BL 5200 = 6,480 4,980 (4~) = 5980 (4~) - = - - = =
6R1H 55| X8 671-644 |G)TAN¥Y/OHFIT 4'L—/RZC-NO2GY 5200 = 6,480 4,980 (4~) = 5,980 (4~) - = = - = -
6818 55| RE 671-645 |G)TAN¥Y/OHF17 A= '1/RZC-NO2LBR 5200 = 6,480 4,980 (4~) = 5980 (4~) - = - - = =
6A1H 58 RE 601-867 |G)TAnN¥Y/OHF17 7'yt #%L/RZC-271BK 6,900 = 8280 6,500 (4~) = 7,480 (4~) - = - - = -
6818 58 RE 601-868 |G)THN¥Y/0HF1T7 73948t t/RZC-A271BK 8680 = 9880 8,280 (4~) = 9,280 (4~) - = - - = =
6818 59 RE 613-021 |G)aY3/ AT 49)AF17—-2 B#%L 7 h—/HCR-G610KB3 12,400 = 13,800 11,780 (4~) = 12,800 (4~) - = - - = -
6A1H 59 K& 672-187 |G)A93/ A7 199AF172 Bt7EL 7°799/HCR-G610KD2NN 12,400 = 13,800 11,780 (4~) = 12,800 (4~) - = = - = -
6818 59 RE 615-826 |G)A93/ AT 1y9AF172 Ft%EL ¥ L—/HCR-G610KM2NN 12,400 = 13,800 11,780 (4~) = 12,800 (4~) - = - - = -
6A1H 59 K& 615-827 |G)AY3/ AT 499AF172 F#4L £V%/HCR-G610KR2NN 12,400 = 13,800 11,780 (4~) = 12,800 (4~) - = - - = =
6H1H 59| RE 613-037 |G)a93A/ AT 1v9AFz7—2 it 7' V—/HCR-G611KB3 15400 = 16,800 14,630 (4~) = 15,800 (4~) - = = - = -
6A1H 59| K8 672-188 |G)aY3/ AT 1v9AFx72 Bt 7°399/HCR-G611KDNN 15400 = 16,800 14,630 (4~) = 15,800 (4~) - = - - = =
6H1H 59| RE 615-828 |G)aY3/*7 4y9AF172 Kt 4’ L—/HCR-G611KM2NN 15400 = 16,800 14,630 (4~) = 15,800 (4~) - = = - = -
6A1H 59 RE 615-829 |G)aY3/ AT 199AF172 Btft £'V49/HCR-G611KR2NN 15400 = 16,800 14,630 (4~) = 15,800 (4~) - = - - = =
51H 60 KE 615-777 |G)a%3/AX OAFz7 T447° 7 )\— A7 L/AXB-R3B4 14800 = 14,800 14,060 (4~) = 13,800 (4~) - = - - = =
5A1H 60| K8 615-778 |G)2Y3/AX OAF1T7 T447" #Ly¥ BH7EL/AXB-R3Y 14,800 = 14,800 14,060 (4~) = 13,800 (4~) - = - - = =
51H 60 KE 615-776 |G)a93/AX OAF1T7 T417" ¥'L— K1 L/AXB-R3M3 14800 = 14,800 14,060 (4~) = 13,800 (4~) - = - - = =
5818 60 RE 646-982 |G)a3/AX OAFIT T447" 7°'3v4 Ft#L/AXB-R3D 14,800 = 14,800 14,060 (4~) = 13,800 (4~) - = - - = =
51H 60 KE 615-779 |G)a%3/AX OAF17 T447° 7 — Ft{+/AXB-R4B4 17,800 = 17,800 16,910 (4~) = 16,400 (4~) - = - - = =
5A1H 60| K8 615-781 |G)a93/AX OAF1T7 T447" #LvY" Bt{H/AXB-R4Y 17,800 = 17,800 16,910 (4~) = 16,400 (4~) - = - - = =
51H 60 KE 615-780 |G)a%3/AX OAF17 T447° 9'L— Ft{+/AXB-R4AM3 17,800 = 17,800 16,910 (4~) = 16,400 (4~) - = - - = =
5818 60 RE 646-984 |G)a93/AX OAF1T T447" 7'3v4 Bt{t/AXB-R4D 17,800 = 17,800 16,910 (4~) = 16,400 (4~) - = - - = =
6R1H 64 KR8 676-464 |G)TANYY/19 ¥ 9747 F1F 7'399/RZE-A210BK 23,980 = 24,800 - = - - = - - = _
6818 64 XE 676-465 |G)TANYY/IH9 ¥ 9747 F17 K74/ RZE-A210W 23980 = 24,800 - = - - = - - = -
6818 64 RE 672-220 |1b=%/HTVT MY 7°599/Z-YI3H-BL-EL-C 36,900 = 38,800 - = = - > - - > _
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6818 64 K8 672-221 |4+=%/H7F5 M) 8'=97°5%2/Z-YI3H-DB-EL-C 36,900 = 38,800 - = = - = . - = _
5A1H 65 RE 929-301 |PAYAFM/Ry¥Y F17 EEYyYavYy—0/ASL-110PV-GN 4860 = 4270 4,615 (4~) = 4,180 (4~) - = = - = -
5A1H 65 XE 929-302 |7AATFM/RGvE VY F17 BEYyYavELYY /ASL-110PV-0G 4860 = 4270 4,615 (4~) = 4180 (4~) - = - - = _
5A1H 65 RE 633-910 |G)71YRAFM/R9v¥VY F1T EEYyYavT h—/Z-ASL-110PV-7L-C 4860 = 4270 4,615 (4~) = 4,180 (4~) - = = - = -
5A1H 65| K8 633-905 |G)TAYRFM/AGv% 09 F17 BEBARTAR Y- 4648 = 3940 3,980 (4~) = 3,880 (4~) - = - - = =
5A1H 65| K8 691-511 |FAYAFM/A4v¥Y F17 B EERAE 7'7v9/Z-ASL-110PP-Y0-C 4648 = 3940 3,980 (4~) = 3,880 (4~) - = - - = =
5A1H 65| RE 633-908 |G)TAYAFM/Rov¥ ) F17 B EERIAET IV — 4648 = 3940 3,980 (4~) = 3,880 (4~) - = - - = _
5A1H 66| RE 929-303 |1/7I1/PMCRYYXVY F17 /%A EE /7 7v9/PMC-430-BK 6,420 = 6,200 6,200 (4~) = 5,990 (4~) - = = - = -
5A1H 66| X8 929-304 |1/71/PMCARAYXVY F17/%aEEE /741 L/PMC-430-LM 6,420 = 6,200 6,200 (4~) = 5,990 (4~) - = - - = =
5A1H 66 RE 929-305 |1/71/PMCA4y%Y9 Fx7/aEM /ALYy /PMC-430-OR 6,420 = 6,200 6,200 (4~) = 5990 (4~) - = - - = -
5A1H 66 XE 929-306 |1/9L/PMCAAy¥VY F17 /%A EME /7 v —/PMC-430-BL 6,420 = 6,200 6,200 (4~) = 5990 (4~) - = = - = -
6818 66 RE 762-651 |G)A93/REAAYIVY FLT LAY = 3T YTLIVE 8,600 = 9,000 7,734 (4~) = 8,580 (4~) - = = - = -
6818 66 FE 762-669 |G)1Y3/REAAFVY FIT LAV - ET L—FI-T0 8,600 = 9,000 7,734 (4~) = 8,580 (4~) - = = - = -
6R1H 66| K8 762-678 |G)AYA/REBAAIEVY FIT ILAULY = STYTAIYY 8,600 = 9,000 7,734 (4~) = 8,580 (4~) - = - - = =
6818 66 FE 762-687 |G)AY3/REAAFVY F1T ILavLY - 3TYTLR-R 8,600 = 9,000 7,734 (4~) = 8,580 (4~) - = = - = -
6R1H 66| K8 762-696 |G)1Y3/REAAYIVY FL7HEEY TT L—biVb 8238 = 9,000 7,733 (4~) i 8,580 (4~) - = = - = -
6818 66 FE 762-705 |G)1Y3/KREAAWIVY F17ERY T L—F31-50 8238 = 9,000 7,733 (4~) = 8,580 (4~) - = = - = -
6R1H 66| K8 762-714 |G)1Y3/KEAAIVY FL7fEEY TT L7~ 8238 = 9,000 7,733 (4~) i 8,580 (4~) - = = - = -
6818 66 FE 762-723 |G)AY/SEAAWIVY FI7ERY T L-FA-R 8238 = 9,000 7,733 (4~) = 8,580 (4~) - = = - = -
5A1H 66| X8 595-781 |G)F1YAFM/LTSF17 41—y 5640 = 4970 5,000 (4~) = 4,880 (4~) - i = - = -
5A1H 66| RE 595-780 |G)F{YAFM/LTSFIT 7'l — 5640 = 4970 5,000 (4~) = 4,880 (4~) - = = - = -
5A1H 66| X8 595-783 |G)7{YAFM/LTSF17 #LUY 5640 = 4970 5,000 (4~) = 4,880 (4~) - i = - = -
5A1H EL! 638-180 |G)1Y3/EEAM1A160 i BHEE n—F¥+vR5— 7477y 18,330 = 17,800 17,800 (4~) = 16,800 (4~) - = - - = =
5A1H UEZ! 638-182 |G)3YA/REFAMR160 7 FHEE n—+$vR5— AL-M'L- 18,330 = 17,800 17,800 (4~) = 16,800 (4~) - = - - = -
5A18 67 XE 638-183 |G)1Y3/KEAIR160 0 FHE N—FFvRE— H—3{Y 18,330 = 17,800 17,800 (4~) = 16,800 (4~) - = - - = -
518 67| KE 929-323 |7AYAFM/LTSAY¥VY F17 $+R9—1F LYy /LTS-4C-F-0G 9980 = 7,970 9,480 (4~) = 7,480 (4~) - = = - = -
5A1H 67 XE 929-324 |TAYAFM/LTSA99% YT F17 $+R5—1t 7' IL—/LTS-4C-F-BL 9980 = 7970 9,480 (4~) = 7,480 (4~) - = - - = =
5818 67| KE 929-325 |7AYAFM/LTSASv4 U9 F17 $%A8—1F §)-V/LTS-4C-F-GN 9980 = 7,970 9,480 (4~) = 7480 (4~) - = = - = -
5A1H 67 XE 929-326 |FAYAFM/LTSAG¥UY F17 4R 59— ¥'L—/LTS-4C-F-GY 9980 = 7970 9,480 (4~) = 7,480 (4~) - = - - = =
5A1H 68 RE 658-883 |Q)FMYAFM/7'B-RY—)V EE420 §'Y—y/Z-AY-I1420B-G-C 2690 = 2470 2,545 (6~) = 2,380 (6~) - = - - = =
5A1H 68| RE 658-884 |G)FAYAFM/7 B-RAY—) &E420 7')L—/Z-RY-I1420B-B-C 2690 = 2470 2,545 (6~) = 2,380 (6~) - = - - = -
6818 68 XE 178-372 |G)373/AY=) TIPVCLH = 3T Y7LIVF 4200 = 4,980 - = - - = = - = -
6A1H 68| RE 178-373 |G)393/AY—) IIPVCLY = 3TYTATYY 4200 = 4980 - = - - = = - = -
6A1H 68 KE 178-374 |G)393/AY—=Ib IIPVCLY = 377 LA-R’ 4200 = 4980 - = - - = = - = -
6818 68 RE 172-922 |GYFANYY/7790F OAFIT 7°799/RZR-112BK 5990 = 7,280 5,780 (4~) = 6,980 (4~) - = - - = -
6H1H 68| KE 172-923 |GQ)HANYY/799U8 OAF1T7 74K —/RZR-1121V 5990 = 7,280 5,780 (4~) = 6,980 (4~) - = = - = -
6A1H 68| RE 172-924 |GYHhin'¥v/59F OAF17 7 V—/RZR-112BL 5990 = 7,280 5,780 (4~) = 6,980 (4~) - = - - = =
6818 68| KE 172-925 |G)YHhiN¥Y/790F OAFIT E'V9/RZR-112P 5990 = 7,280 5,780 (4~) = 6,980 (4~) - = = - = _
6RA1H 68| RE 613-182 |G)AY3/¥E%£ MR 7'7v9/CR-FGTDN 15,360 = 15,800 14,800 (4~) = 14,800 (4~) - = - - = =
51H 69| KE 672-270 |G)FAYAFM/CAL-XF17L¥ 27—%41R" 7 b—/Z-CAL-X02MV7'LI—C 6,180 = 5580 5,610 (4~) = 5480 (4~) - = = - = _
5A1H 69 RE 672-271 |G)71Y)AFM/CAL-XF1T7 L¥ 15—H44R" 7AH')—- 6,180 = 5580 5,610 (4~) = 5480 (4~) - = - - = -
5A1H 69| KR8 671-822 |G)FTAYATM/A=N—h—FAF—IVil &5 EE#IAE417°/2-SS-S039-C 3640 = 2,980 3,280 (4~) = 2,870 (4~) - = = - = _
5A1H 69 RE 671-824 |GQ)FAYAFM/ A= =hl—F RF-I# 7')b—/Z-SS-S139N-C 4840 = 4180 4,370 (4~) = 3,980 (4~) - = - - = =
5818 70|RE 929-340 |1/9L/AKERAy¥0) Fr7ii EXPVCEME /L) /KOI-11-VPK 9,180 = 8,830 8,760 (4~) = 8410 (4~) - = = - = _
5A1H 70/ %XE 929-341 |41/91/KRE24v% 0 F7 i EXPVCEEE/Y)—V/KOI-11-VGR 9,180 = 83830 8,760 (4~) = 8,410 (4~) - = = - = -
5818 70|RE 929-342 |4/9L/ KRR+ 05 F17I EXPVCEEE /74K )—/KOI-11-VIV 9,180 = 8,830 8,760 (4~) = 8,410 (4~) - = = - = -
5A1H 75 RE 691-773 |G/ A4REIREE LEE 7-7°Y W880xH730 16,900 = 15,900 - = - - = - - = _
5A1H 75| RE 691-772 |G)AY3/AdR IR EE LEZ 538 VF W880%H730 20,900 = 19,900 - = - - = - - = _
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581H 75| K8 691-771 |G)AYA/AdI IR EE LEE 53ZLV1'7AF W880xH730 22900 = 21,900 - = - - = - - = -
5A1H 75 RE 695-248 |G)AY/AdREIREE FTEE 7—7°Y W880xH790 19,200 = 18,824 - = - - = - - = -
5818 75 RE 695-236 |G)AYA/A4XI IR EE FESE 53ZLVF W880%H790 23,000 = 22,308 - = - - = - - = -
5A1H 75 RE 695-237 |G)AYA/AAXI IR EE TEZ 5L VI'IAF W880%xH790 25800 = 25,168 - = - - = - - = -
681H 75| K8 691-764 |G)AYA/AdXI IR EE LEE 53EZLVF W1760%H730 33890 = 35800 - = - - = - - = -
5A1H 75 RE 691-765 |G)AYA/Adxt R EE LEE 53ELVIIAF W1760%H730 39,800 = 38810 - = - - = - - = -
5818 76 K& 646-640 |G)1/3/EERIEE AR 3TIFREN1ER A 24T 52,900 = 51,900 - = - - = - - = -
5A1H 76 RE 646-642 |G)1YI/ESEEIE AR TR EN10EL - FBI6ER A& {T 57,900 = 56,900 - = - - = - - = -
5818 76 K& 646-643 |G)1/3/ELEEIEE AR 351iRF122E% A -2 fF 66,900 = 65900 - = - - = - - = -
5A1H 76 RE 132-817 |G)1YA/A4IGREE TESE 4£-7°Y W880*H1120 20,900 = 19,900 - = - - = - - = -
5818 76 RE 132-816 |G)I7A/A4RISREE TEE 5:8L 5 W880xH1120 26,900 = 25900 - = - - = - - = -
581H 76| RE 633-540 |G)AYI/AARICIREE TEE 5ELVAIIABE W880%H1120 29,900 = 28,900 - = - - = - - = -
6818 76 RE 634-480 |G)AYA/A4XI IR EE FTEE 53ZLVE W1760%H1120 45000 = 46,800 - = - - = - - = -
5A1H 76 RE 574-065 |G)AY3/AdIREE TESE 513ELVIFAF W1760%H1120 51,200 = 49,800 - = - - = - - = -
5A1H 76 K8 612-970 |193/{REE FE ATk W856%D317+H20/A-S36F 1N 3000 ® 2,400 - = - - = - - = -
581H 76| RE 612-987 |G)AY3/ A4 ISR EE -7~ W880*H1850/S-K370F 1N 24900 = 23,900 - = - - = - - = -
581H 76 RE 612-979 |G)AYA/A4xI SR EE MFAE W880%H1850/S-370F 1NN 32,900 = 31,900 - = - - = - - = -
6R1H 771 RE 691-775 |G/ REEXRE EEF 5:EL\F W880+xD380*+H400 18,520 = 19,800 - = - - = - - = -
6818 771 RE 691-754 |G/ REEERR LEE 5LELVIFAF W880xH400 20900 = 22,800 - = - - = - - = -
6R1H 771 RE 691-756 |G/ REEZXRE EEZF 5:EL'F W1200%D380%H400 21500 = 22,800 - = - - = - - = -
6H1H 771RE 691-774 |G/ HREEZXRE LEE 5:ELVF W1500%D380%H400 23,600 = 24,800 - = - - = - - = -
6R1H 771 RE 691-757 |G/ REEZXRE EEZF 5:ELVF W1760+D380%H400 26,600 = 27,800 - = - - = - - = -
5818 771 RE 691-768 |G/ REEERR LEE 5ELVIIAF W1760%H400 30,500 = 29,900 - = - - = - - = -
5A1H 771|RE 691-761 |G/ REEZXRE LEZ 5:EL\F W880+xD400*H880 17,900 = 16,900 - = - - = - - = -
5818 771 RE 691-759 |G/ REEZXRE LEE 5ELVIFAF W880xH880 20,900 = 19,900 - = - - = - - = -
5A1H 771|RE 695-238 |G/ REEZXRE TEZE 5:E8L\F W880xD400+xH880 19,900 = 18,900 - = - - = - - = -
5818 771 RE 695-239 |G/ REEZXE TEZE 5L:ELVNFAF W880*H880 23,900 = 22,900 - = - - = - - = -
5A1H 771|RE 632-674 |G/ REEXE MEBAE W880%xD380*H880 21580 = 20,900 - = - - = - - = -
5818 771 RE 632-672 |G)YAI/REEXE TEZE FEE W515xD380%H880 16,400 = 15900 - = - - = - - = -
5A1H 771|RE 658-506 |G)1YI/REEXE EEZE 5:EL\F W1200%D400%H880 26,900 = 25900 - = - - = - - = -
5818 771 RE 658-508 |G/ REEEXRE FEE 5[BLVHIAF W1200%H880 30,900 = 29,900 - = - - = - - = -
5A1H 771|RE 658-507 |G/ REEZXRE TEZ 5:EL'F W1200+D400*H880 29900 = 28,900 - = - - = - - = -
5818 771 RE 658-509 |G)YI/REEZXRE TEZ 5:ELVNFAF W1200%H880 33,900 = 32,900 - = - - = - - = -
5A1H 18| RE 697-513 |G/ REEZXRE EEZF 5:EL'F W1500%D400%H880 30,900 = 29,900 - = - - = - - = -
5818 78| RE 697-514 |G/ REEEXRE FEE 5[:BLVHFAF W1500%H880 34900 = 33,900 - = - - = - - = -
5A1H 18| RE 697-516 |G/ REEZXRE TEZE 5:8L'F W1500%D400*H880 34900 = 33900 - = - - = - - = -
5818 78| RE 697-517 |G)YI/REEZXRE TEE 5ELVNFAF W1500%H880 39,900 = 37,900 - = - - = - - = -
581H 78| RE 691-763 |G/ REEZXRE LEZ 5:EL'F W1760%D400%H880 31,900 = 30,900 - = - - = - - = -
581H 78| RE 691-762 |G/ REEEXRR FEE 5ELVHIAF W1760%H880 35900 = 34,900 - = - - = - - = -
581H 78| RE 695-243 |G/ REEZXRE TEZ 5:EL'F W1760%D400%xH880 35900 = 34,900 - = - - = - - = -
5818 78| RE 695-244 |G/ REEZXRE TEZE 5:BLV'FAF W1760%H880 39,900 = 38,900 - = - - = - - = -
5A1H 78| RE 612-970 |2H3/1REE EAH#ItR W856+D317xH20/A-S36F 1N 3,000 = 2400 - = - - = - - = -
5818 78| RE 696-090 |1/ IR EEXE #iMR(EELFWI12008 FH) W1176%D317 3500 = 3,000 - = - - = - - = -
5818 78| RE 669-906 |1/3/{REEXE #ItR(51:ELFW15008 F) W726+D317 2,100 = 2,000 - = - - = - - = -
5A1H 718 RE 669-843 |G)1Y3/ R EEXE MFAE W880xD380*H1790 24900 = 23,760 - = - - = - - = -
5A18 78| RE 669-825 |G)1YI/REEXE MBAE 51FH L1+ W880%xD380*H1790 25600 = 24,900 - = - - = - - = -
5818 18 RE 669-834 |G/ REEXRE TEE 5BV LENIRAF 41,900 = 39,400 - = - - = - - = -
5A1H 78| RE 632-676 |G/ REEZXE TEZE 5:EL VI 7AF W880*H1790 52,000 = 50,900 - = - - = - - = -
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581H 18|RE 669-852 |G/ REERE J74H v AULEHE W880xD400*H1790 29,700 = 28,900 - = - - = - - = -
5A1H 19 RE 691-770 |G)AYA/REEFE LEZE 5:ELVF W880%D515%H880 24900 = 23900 - = - - = - - = -
5818 719 RE 691-760 |G/ REEFEE LEZF 51:EL VI 7AF W880*H880 26,900 = 25900 - = - - = - - = -
5A1H 19 RE 669-879 |G/ REEIFE MBAE W880%D515%H880 27,700 = 26,900 - = - - = - - = -
5818 19 KE 669-888 |G)1YI/{REEIRE MBAE 51FH LI+ W880%D515%H880 34000 = 32,940 - = - - = - - = -
5A1H 19 RE 695-245 |G)1YA/REEFRE TEE 51:ELVF W880%D515%H880 27,900 = 26,900 - = - - = - - = -
581H 19 \RKE 695-246 |G/ REERE TEZE 5I:ELVI7AF W880+xH880 29900 = 28900 - = - - = - - = -
5A1H 19 RE 697-512 |G)YI/REEFEE LEE 5ELVF W1760%D515%H880 45900 = 43,900 - = - - = - - = -
5818 719 RE 691-766 |G)1YI/REEFEE LEZF 5:ELVIFAF W1760%H880 48900 = 46,900 - = - - = - - = -
5A1H 19 RKE 697-515 |G)1YA/REEFE TEF 51;:ELVF W1760%D515%H880 49,900 = 48,500 - = - - = - - = -
5818 19 KE 695-247 |G/ REEFEE TEZ 5LELVIFAF W1760%H880 53,900 = 51,500 - = - - = - - = -
5A1H 19 RKE 669-861 |G)1/3/{REEREE MBAE W880xD515%H1790 43,900 = 42500 - = - - = - - = -
5818 19 KE 578-140 |G/ REEIFEE MBHE 51FH LI+ W880%D515%H1790 50,900 = 48,900 - = - - = - - = -
5A1H 19 RKE 632-678 |G)1YA/REEFE TEF 51;:ELVF W880+D515%H1790 52,900 = 50,900 - = - - = - - = -
5818 79| RE 632-679 |G/ REEFEE TEZE 5:ELVNIFAF W880*H1790 61,900 = 59,900 - = - - = - - = -
5A1H 19 RE 612-960 |1/3/{REEREE H#itk(W880-W1760% F) W856%D450 3500 = 23800 - = - - = - - = -
6818 80|RE 646-650 |G)393/17 47 LEBE 4#-7°V H1050 £74F/BWU-K59SAW 31,020 = 31,800 - = - - = - - = -
6H1H 80| KE 646-651 |G)1%3/17 17 L EE WREHE H1050 £7/F/BWU-SU59SAWN 40,070 = 40,800 - = - - = - - = -
6A1H 80 XE 646-652 |G)1Y3/17 47 LEZ 24X5|F H1050 K71} 42,630 = 43,800 - = - - = - - = -
6818 80 RE 646-653 |G)193/17 17 LEE 3¥NFAEIF H1050 K74} 58,180 = 59,800 - = - - = - - = -
581H 80 RE 646-654 |G)193/17 (7 LEZE hFAMEIE H1050 K74 53,580 = 51,200 - = - - = - - = -
581H 80 RE 646-655 |G)3%3/17 17 LEE 3%5IF H1050 74+ 56,280 = 53,800 - = - - = - - = -
581H 80|RE 637-968 |G)3Y3/IT 47 TEZE -7V H2160 +£74+/BWU-K8ISAW-K 59,400 = 56,800 - = - - = - - = -
5A1H 81 RE 646-656 |G)1Y3/IT 47 TEZE 4-7"V H1110 £71}/BWU-K59SAW-K 37940 = 35800 - = - - = - - = -
5A1H 81 RE 646-657 |G)193/17(7 FTEE MRAE H1110 £74F/BWU-SD59SAW-K 46,870 = 43,200 - = - - = - - = -
5A1H 81 RE 646-658 |G)1%3/1717 FTEE 28 5IF H1110 £74F 49,390 = 45800 - = - - = - - = -
5A1H 81 RE 646-660 |G)193/17¢7 FEE 3#5|F H1110 £I4F 62,850 = 57,800 - = - - = - - = -
581H 82| ®E 582-879 |G)1Y3I/EKREE LEE -7V H1050 +F150L9'L— 27580 = 24,000 - = - - = - - = -
5818 82 XE 582-882 |G)IYI/EKREE LEE MBHE H1050 FF1709 - 35780 = 30,000 - = - - = - - = -
5A18 82| RE 582-877 |G)IYI/EKREE LiEZ 35| F H1050 FF1707 L— 43,000 = 37,000 - = - - = - - = -
6818 82 ®E 929-494 |293/EKR B E B4R W877 X D391 X H20 +F1505 L— 2,800 = 3,000 - = - - = - - = -
5A18 82| RE 582-880 |G)1YI/EKREE FEE -7V H1110 +F1505'L— 34900 = 30,000 - = - - = - - = -
5A1H 82 ®E 582-883 |G)IYI/EKIREE TEE MBAE H1110 FF1705°L— 42,800 = 36,000 - = - - = - - = -
5A1H 82| RE 582-878 |G)1Y3/EKIREE TEE 385IF H1110 71705 L— 49,800 = 43,000 - = - - = - - = -
5818 84 RE 929-500 |G b—F/Yu3MvkrE #vb EEE WmBIEER H692 29,300 = 26,800 - = - - = - - = -
5A1H 84 RE 929-499 |G b—%/VU7Mv%rE 2yt EEE -7 V% H692 24580 = 22,3800 - = - - = - - = -
5A1H 84 RE 929-501 |G h=%/Yu740%xE vyt LBEE H'IAMBIEEEE! HE692 49,580 = 46,000 - = - - = - - = -
581H 84 RE 929-502 |G){b—%/Yu7 v%rE' 2yt L EE 5IF & H692 36,660 = 34,000 - = - - = - - = -
5A1H 84 RE 929-503 |G M—%/Yu7M0%rE *yt L EE 3HEIF & H692 51,800 = 48,000 - = - - = - - = -
581H 84 RE 929-505 |G){h—%/Yu740%rE 2yt TES MEASER H692 35600 = 33,800 - = - - = - - = -
5818 84 RE 929-504 |G b—F/YU74v%rE 2ub FTEE -7 VR H692 30,880 = 29,200 - = - - = - - = -
581H 84 RE 929-506 |G){h—%/Yu7{v%rE' 29t FTEE 5IF & H692 42,960 = 40,500 - = - - = - - = -
5A1H 84 RE 929-507 |G M—%/Yu740%rE %ot TEE 35| F & H692 58,100 = 54,800 - = - - = - - = -
6A1H 84| RE 929-510 |G){h—%/Yu740%+E 2yt LBE MBASEEM H1038 37,910 = 42,800 - = - - = - - = -
6A1H 84 RE 929-509 |G h—%/Yu74 %t 2ok L EE A7V H1038 31,800 = 36,800 - = - - = - - = -
581H 84 ®E 929-511 |G =%/ 4V%xt 4yb L EE I 5AMBIEFEE H1038 61,110 = 54,800 - = - - = - - = -
5A1H 84 RE 929-513 |G M—%/Yu740%rE 2ot L EE 3#X5IF & H1038 58,120 = 53,800 - = - - = - - = -
5A1H 84 RE 929-517 |G b—%/YU740%rE' 29t TEE 3#X5IF & H1038 64,420 = 59,800 - = - - = - - = -
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£EH f%vjﬁtm AXES BREW IR Se A% HRSEIlE (3=) BR5EffitE (=) HR5EifitE (%=) HRSE(fE (=) HR5EffitE (%=) ARSE(fE (=)
(20184F) ZEA] THEE Z A rHE% AT rHE% AT rHE%
581H 85| RE 172-970 |G)AhA7/VILLAGE VSIR#A #—7"v L&EZ H750 #74F 13,950 = 12,800 - = - - = - - = -
581H 86 RE 172-972 |G)AhAh7/VILLAGE VSIRHH 577V 3E% TFiESE H1100 £74b 57450 = 49,800 - = - - = - - = -
5A1H 91|xKE 612-990 |G)1YA/EFFIEE MR 15REN18ER 23,260 = 22800 - = - - = - - = -
5A1H 91 RE 613-002 |G)1Y3/EFREEE AHEE! 15REI9E 19,090 = 18,800 - = - - = - - = -
5A1H 91|xKE 612-974 |G)1YA/EFFIEE MR 25E B8R 40,340 = 39,800 - = - - = - - = -
6R1H 91 RE 612-978 |G)1YA/ESARIE AR 251iR BISE: - REIGER 35,620 = 36,800 - = - - = - - = -
6A1H 91|xKE 612-968 |G)1YA/EFFTIEE MMEE 3R EN8ER 60,690 = 61,800 - = - - = - - = -
6R1H 92 RE 794-628 |G)1/3/E5ATEIEE BAMEE! 1528 18E% 27,100 = 27,800 - = - - = - - = -
6A1H 92| X8 794-637 |G)1/3/E4FREIRE BAMEE! 151FEBIER 20,300 = 20,800 - = - - = - - = -
6R1H 922 RE 794-646 |G)1)I/EFEEIHE BAMtE 25X EN18ER 46,470 = 48,800 - = - - = - - = -
6A1H 92 RE 794-655 |G)1)3/E AT IR BAMEDY 251 FEI9EL 35040 = 36,800 - = - - = - - = -
6R1H 922 RE 794-673 |G)1)A/EFEEIEE Bt R TR EN8ER 69,860 = 72,800 - = - - = - - = -
6A1H 92 RE 794-682 |G)1)3/E5ATEIEE BAMEDY 35IFEII9EL 53,230 = 553800 - = - - = - - = -
6R1H 93 RE 794-565 |G)1)I/EFAEIRE AT 35X B225% 65,000 = 66,800 - = - - = - - = -
6A1H 93 RE 794-574 |G)1Y3/EFAEIRE A4HERY 3FFERI1ER 50,600 = 52800 - = - - = - - = -
6R1H 93 RE 615-891 |G)2)3/EFBRIEE AHEE! 35 RM0E% R EI6ER 55,100 = 57,800 - = - - = - - = -
5A1H 94 RE 612-988 |G)a93/774Y0) vt #ybA4 2B T F1709 L—W388%D620%H740 23,900 = 235800 - = - - = - - = -
5A1H 94 RE 612-977 |G)a93/774")09 vt #ybA4 3E&FF15)5 L—W388%D620%H1015 35900 = 35800 - = - - = - - = -
5A1H 94 RE 612-976 |G)a93/7740) $vE #yhA4 4BETFaT09 L—W388%D620%H1335 41900 = 41,800 - = - - = - - = -
5A1H 94 RE 612-985 |G)a93/774)9 ¥+t 29bB4 2Bk FF25L9 L—W458+D620%H740 30,980 = 30,390 - = - - = - - = -
581H 94 \RE 612-971 |G)a93/774' )09 $¥t 2y+B4 3E&TFa17)L9 L—W458%D620%H1068 45600 = 44,330 - = - - = - - = -
5A1H 94 RE 612-962 |G)a93/774)9 ¥+t 29bB4 4ERFFa59 L—W458+D620%H1400 51,800 = 50,720 - = - - = - - = -
5A1H 94 RE 646-644 |G)2Y3A/771)0Y FrE 4ybAL 2B 4'L—W388%D620%H740 23,900 = 235800 - = - - = - - = -
5818 94\ RE 646-645 |G)a93/774Y FrE *yhA4 3EE 4 L—W388*D620%H1015 35900 = 35,800 - = - - = - - = -
5A1H 94 RE 646-646 |G)293/771)Y $¥E RybA4 4B ' L—W388+D620*H1335 41,900 = 41,800 - = - - = - - = -
5818 94\RE 646-647 |G)A93/774)0Y FrE 29bB4 2B% §'L—W458+D620*H740 30,980 = 30,390 - = - - = - - = -
5A1H 94 RE 646-648 |G)293/771Y $¥E #ytB4 3EX 7' L—WA458+D620*H1068 45600 = 44330 - = - - = - - = -
5818 94\RE 646-649 |G)a93/771Y Y $rE 2ybB4 4B 4 L—W458+D620+H1400 51,800 = 50,720 - = - - = - - = -
6A1H 94 RE 636-334 |293/774)9 FrE 2y bR UIHR A4Y4RH 648 = 698 - = - - = - - = -
6818 94 %8 606-788 |153/nU% U IL—L(T74)5 %%t 4y EFR)/F4-KHMN 1,246 = 1,290 - = - - = - - = -
5818 94 RE 613-047 |G)3%3/¥97 71— A1F/MC-A1F1 63,000 = 61,250 - = - - = - - = -
581H 94 %8 794-349 |293/3y7°1—A A'=A A1F/MCB-A1F4 10,470 = 10,070 - = - - = - - = -
5A1H 94 RE 633-547 |293/3y7° =R N'=A+jiltyt A1F/MCB-A1F4F-K 18270 = 17,750 - = - - = - - = -
581H 94 %8 613-045 |G)393/¥y7"r—2 AOF/MC-AOF1 86,000 = 84,240 - = - - = - - = -
5A1H 94 RE 794-331 |393/397°5—A A=A AOF/MCB-AQF4 13000 = 12,680 - = - - = - - = -
5818 94\RE 633-545 |193/3y7°r—2 A =A+filtyb AOFS/MCB-AOF4F-K 23,000 = 22360 - = - - = - - = -
6818 96 RE 929-561 |TANYY/FINUTV2I07h—AA4 FERIOEY 478! K74} 8900 = 9,800 - = - - = - - = -
681H 96| RE 929-562 |TANYY/TINUTV2IOTF—AA4L REIQERATR! —a-h'L— 8,900 = 9,800 - = - - = - - = -
6818 96 XE 929-563 | FANYY/TINUTV2IRTI—AA4 R B - RBI6EY 478 U4+ 8900 = 9,800 - = - - = - - = -
681H 96| RE 929-564 | TANYY/TINUTV2IATH—AA4 & -FEI6ER 478 22— L— 8,900 = 9,800 - = - - = - - = -
6A1H 96 XE 929-565 | TANYY/TNUTV270T 1—AA4 EEI18ER 47 &74b 8,900 = 9,800 - = - - = - - = -
6818 96 K& 929-566 | FAN YV /TN UTV2IATI—AA4 SERIBER 478 Za-)'L— 8900 = 9,800 - = - - = - - = -
6818 96 RE 929-573 |TANYY/FINUTV2707h—AA3 ERIOEL 338! §4b 20,160 = 20,800 - = 19,400 (3~) - = = - = =
681H 96| RE 929-574 |TANYY/FTINUTV2I07r—AA3 REOER 398! —a-¥'L— 20,160 = 20,800 - = 19,400 (3~) - = = - = =
6A1H 96 XE 929-575 | TAINYY/TINUTV2I07T—AA3 R B - FAI6EE 318 K04b 20,160 = 20,800 - = 19,400 (3~) - = = - = =
681H 96| RE 929-576 |TANYY/TINUTV2IATH—AA3 3% -iFRBI6ER 308 —1-)'L— 20,160 = 20,800 - = 19,400 (3~) - = = - = =
6818 96 RE 929-577 |FANYY/TINUTV2IOTF—AA3 ER18E% 328! K74b 20,160 = 20,800 - = 19,400 (3~) - = = - = =
681H 96| RE 929-578 |TANYY/TINUTV2I07F—AA3 E B 18E% 338! —1-)'L— 20,160 = 20,800 - = 19,400 (3~) - = = - = =

12/19
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(20184F) ZEA] THEE Z A TEE AT rHE% AT rHE%
6818 96|RE 676-508 |G)T1YAT—¥¥/474AF1Ab ZEI4EL/ P RI3E%/OCE-S403AR 4076 = 4800 - = - - = - - = -
5818 98| K& 638-047 |G)aY3/LKOyh— 1 ARAYAL F+Fa1705'L—/LK-S1F1 18,900 = 18,800 - = - - = - - = -
5818 98| KE 613-180 |G)a%3/LKAyh— 1 AR FFa704 L—/LK-1F1 19,900 = 19,800 - = - - = - - = -
5818 98| RKE 613-160 |G)a¥3/LKByH— 2 AFH FF170) L—/LK-2F1 25,900 = 25,800 - = - - = - - = -
5818 98| KE 613-153 |G)aY3/LKAyh— SA R FFa1704 L—/LK-3F1 28,900 = 28,800 - = - - = - - = -
5818 98| RE 613-139 |G)a¥3/LKByH— 4 ANFH FF170) L—/LK-4F1 32,900 = 325800 - = - - = - - = -
5818 98| KE 613-057 |G)aY3/LKAyh— 6 AF FFa704 L—/LK-6F1 45900 = 45800 - = - - = - - = -
5818 98| RKE 615-880 |G)a43/LKAyH— 8 AR FF170) L—/LK-8F1 55,900 = 55,800 - = - - = - - = -
5818 98| KE 615-881 |G)a%3/LKAyh— 9 AF FFa704 L—/LK-9F1 57,900 = 57,800 - = - - = - - = -
5A1H 98 RE 632-800 |G)3%3/LKAvA— Z AHAGERE) H4L +F1907 - 43900 = 43,800 - = - - = - - = -
581H 98|RE 632-801 |G)a%3/LKAyh— 6 A AR +F17)5 L—/LK-60F1 61,400 = 60,690 - = - - = - - = -
5A1H 99 RE 632-820 |G)a93A/A)—IOyh— n447° O NF BHlfT 51EF 59,800 = 58,330 - = - - = - - = -
5A1H 99 X8 632-827 |G)AY3/AY=-IAyh— 847" IR F#fE SV —8E 64,200 = 63,470 - = - - = - - = -
581H 99 RE 632-828 |G)aY3/A9-Ihayh— n447° 12 A BIEF 62,800 = 61,110 - = - - = - - = -
581H 29 RE 632-829 |G)aYA/A)—IhOyh— nM447° 12 N Vo8 —8E 69,800 = 68,050 - = - - = - - = -
5A1H 99 RE 632-830 |G)a93/AY—Iayh— n447° 12 A it 51ZF 72,000 = 69,860 - = - - = - - = -
5A1H 99 X8 615-932 |G)AY3/AY-Byh— nM947° 12 A PHift )08 -8 79,800 = 79,700 - = - - = - - = -
581H 99 RE 673-282 |G)a%3/A-Wayh— nM5847° 18 N YYuy —8& 82,800 = 82,700 - = - - = - - = -
581H 99\ RE 632-831 |G)aY3/A9—IAyh— n1547° 24 AN BIEF 92560 = 89,860 - = - - = - - = -
581H 99 RE 632-819 |G)a73/A-Wayh— 547" 24 N VYo8 -8 100,900 = 100,800 - = - - = - - = -
581H 29 RE 632-816 |G)aY3/A)-IhOyh— 0—447° 6 N B#lift 51EF 38,980 = 37,770 - = - - = - - = -
5A1H 99 RE 632-822 |G)aY3/AY—Iayh— 0—447" 6 N F#fT Vo8 - 41,800 = 41,700 - = - - = - - = -
581H 29 RE 632-818 |G)aY3/Ay—IAyh— 0-447° OANF BIEF 45600 = 44,300 - = - - = - - = -
5A1H 99| RE 632-824 |G)aY3/R9—Iayh— 0-447" ONF YUv¥ —8E 50,900 = 49,440 - = - - = - - = -
5818 99 RE 613-065 |G)aY3/A9—IAyh— 0—447° BEAL 55I3E% 15 A H 43800 = 43,700 - = - - = - - = -
5A1H 29| RE 632-814 |G)a93/A)—Iayh— 0—447" 12 A\ it 51ZF 63,980 = 62,220 - = - - = - - = -
5A1H 99 X8 632-825 |G)aY3A/A)—IOyh— 0—447" 12 N it V)os - 71,200 = 69,020 - = - - = - - = -
5A1H 99| RE 632-815 |G)aY3/AY—IRyh— 0—447° 18 AH BIEF 77,500 = 75270 - = - - = - - = -
5A1H 99 X8 632-821 |G)aY3/A)—IaOyh— 0—447" 18 N VU4 —8E 88,500 = 85,970 - = - - = - - = -
5A1H 99| RE 613-086 |G)1/3/SXVY-R" Ya—RA'K'vHR 16 A 4E% thiliftE 41,800 = 41,700 - = - - = - - = -
5A1H 99| KA 613-052 |G)AY3A/SXV)-R" Ya—A"K'vHR 24 N FB 6E% thiiftE 56,800 = 56,700 - = - - = - - = -
5A1H 99| RE 632-806 |G)373/SXVY-R" Ya—RA'K'vIR 24 AFR 456E% it 61,800 = 61,700 - = - - = - - = -
5A1H 99 X8 613-056 |G)2Y3A/SXV-R" Ya—-A'K'vIR 16 N 4504E% ShiiftE 50,800 = 50,700 - = - - = - - = -
5A1H 99| RE 638-056 |G)a93A/SXV-R" Ya—A'K'vHR 24 AFH 6514E% 49,800 = 49,700 - = - - = - - = -
5A1H 100 RE 613-173 |G)A%3/9)—vEyh—(bo—-3EET - 797 BT BHP)FFaINT V- 22900 = 22,800 - = - - = - - = -
581H 100 X & 632-803 |G)343/4")—vayh— W500 X D380 X H1790/CLK-50F 1 36,480 = 35440 - = - - = - - = -
5818 100 RE 632-802 |G)a%3/4")—vAyh— W700 X D515 X H1790/CLK-45F 1 47,800 = 46,430 - = - - = - - = -
581H 100X & 632-804 |G)343/4")—vayh— W880 X D515 X H1790/CLK-65F 1 57520 = 55810 - = - - = - - = -
5A1H 100/ RE 632-805 |G)393/{iE M AyH—/LK-H1F1 28480 = 27,630 - = - - = - - = -
5A1H 100 RE 435-256 |393/fEfmByh— B I0#R4R/LKT-H1F1 3700 = 3616 - = - - = - - = -
5818 103|RE 580-523 |G)a93/4—Y" =594 6E& W890 x D315 x H1800/SE-S06316F1 19,560 = 18,330 - = - - = - - = -
51H 103 RE 580-525 |G)a¥3/4—Y" =799 6E& W1215x D315 X H1800/SE-S06416F1 25000 = 23470 - = - - = - - = -
5818 103|RE 929-633 |G)193/4—Y"—79% 6E% W1515x D315 x H1800/SE-S06516F 1 29340 = 27520 - = - - = - - = -
51H 103 RE 580-529 |G)3¥3/4—Y"—799 6E& W1815x D315 X H1800/SE-S06616F1 32,440 = 30,270 - = - - = - - = -
5818 103|RE 580-524 |G)aY3/4=¥" =394 6E& W890 x D465 x H1800/SE-S06356F1 23290 = 21,800 - = - - = - - = -
5A18 103 RE 580-528 |G)3Y3/4—Y"—F3v% 6E& W1215 X D465 X H1800/SE-S06456F 1 29000 = 27,220 - = - - = - - = -
5818 103|RE 580-530 |G)393/4—Y"—79% 6E% W1515 x D465 X H1800/SE-S06556F 1 34400 = 32220 - = - - = - - = -
5A18 103 RE 580-532 |G)393/4—Y"—3v% 6E& W1815 x D465 X H1800/SE-S06656F 1 38780 = 36,286 - = - - = - - = -
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£EH fﬁgjﬁtw AXES BREW IR Se A% HRSEIlE (3=) BR5EffitE (=) HR5EifitE (%=) HRSE(fE (=) HR5EffitE (%=) ARSE(fE (=)
(20184F) ZEA] THEE Z A rHE% AT rHE% AT rHE%
5A1H 103|RE 582-884 |1%3/4—"—7949 W890 x D315 B4R tyr/SE-TE310F1 1,620 = 1,500 - = - - = - - = -
5A1H 103|RE 582-887 |193/4—Y"—95v9 W1215 x D315 B N4AR ty+/SE-TE410F1 2400 = 2220 - = - - = - - = -
5A1H 103|RE 929-634 |193/4—"—739% W1515 x D315F8 B N4R4Rty+/SE-TE510F1 3320 = 3,180 - = - - = - - = -
5A1H 103|RE 582-891 |393/4—Y"—5v9 W1815 x D315 B N4AR ty+/SE-TE610F1 4120 = 3,720 - = - - = - - = -
5A1H 103|RE 582-886 |193/4—"—7949 W890 x D465 FH B4Rty /SE-TE315F1 2,100 = 1,920 - = - - = - - = -
5A1H 103|RE 582-889 |193/4—Y"—599 W1215 x D465 B MN4EAR tyh/SE-TE415F1 3580 = 3300 - = - - = - - = -
5A1H 103|RE 582-895 |143/4—"—7949 W1515 x D465F B N4R4REy+/SE-TE515F1 4560 = 4140 - = - - = - - = -
5A1H 103|RE 582-892 |193/4—Y"—5v9 W1815 x D465 B MNHAAR ty+/SE-TE615F1 5180 = 43800 - = - - = - - = -
6A1H 104| RE 895-086 |G)a3//uk WbyIlE V)'E $ZBHE 4% W890 X D315 x H1200 13,630 = 14,800 - = - - = - - = -
581H 104 RE 895-095 |G)aY3/ /v WhyTle' VY E B4 4E% W1215 x D315 X H1200 16,280 = 15240 - = - - = - - = -
581H 104 RE 895-104 |G)aY3//Uif Wbyl VY'E 24 4% W1515 X D315 X H1200 19,380 = 18,120 - = - - = - - = -
581H 104 RE 895-113 |G)aY3/ /vy Whyale' VY E 24 4E% W1815 x D315 X H1200 22430 = 20,940 - = - - = - - = -
6818 104 RE 895-122 |G)aY3//Uik WhyIlE'VY'E ¥ZHE 4E% W890 X D465 X H1200 15400 = 153800 - = - - = - - = -
581H 104 RE 895-131 |G)aY3/ /vy Whyale' VY E 24 4E% W1215 X D465 X H1200 19,800 = 18,540 - = - - = - - = -
581H 104 RE 895-149 |G)aY3//Uf Wbyl VY'E 22 4% W1515 X D465 X H1200 23,010 = 21,480 - = - - = - - = -
581H 104 RE 895-158 |G)aY3/ /v Whyale' VY E 24 4E% W1815 X D465 x H1200 28290 = 26,460 - = - - = - - = -
6818 104 RE 895-167 |G)aY3/ /UK Wb IlE'VY'E ¥ZHE 4E% W890 X D615 X H1200 18,280 = 19,800 - = - - = - - = -
581H 104 RE 895-176 |G)aY3/ /v Whyzle' VY E 24 4E% W1215 X D615 X H1200 23000 = 21,480 - = - - = - - = -
581H 104 RE 895-185 |G)aY3/ /Ui Wbyl VY'E 24 4% W1515 X D615 X H1200 27,920 = 26,100 - = - - = - - = -
581H 104 RE 895-194 |G)aY3/ /vy WhyalE' V' E 24 4E% W1815 x D615 X H1200 32670 = 30,540 - = - - = - - = -
581H 104 RE 898-146 |G)aY3//Uik Wb IlE'VY'E ¥ZHE TEX W890 X D465 X H2100 25830 = 24,120 - = - - = - - = -
581H 104 RE 898-155 |G)aY3/ /v WhyTle' VY E B4 TER W1215 X D465 X H2100 35240 = 32940 - = - - = - - = -
581H 104 RE 898-164 |G)aY3//Vif WhyIlE' VY'E ZHE TEX W1515 X D465 X H2100 41,940 = 39,060 - = - - = - - = -
5A1H 104|RE 898-173 |G)aY3/ /v Wbzl V)'E $2HE TER W1815 X D465 X H2100 53,190 = 49,560 - = - - = - - = -
5A1H 104 RE 898-227 |G)AY3/ /UK W' VY E $24E TEX W890 X D615 X H2100 32,280 = 30,120 - = - - = - - = -
5A1H 104|RE 898-236 |G)aY3//uk Wb IEVY'E $BHE TER W1215 X D615 X H2100 41,850 = 39,060 - = - - = - - = -
5A1H 104 RE 898-245 |G)a93/ /U Wbz V)'E $BHE TER W1515 X D615 X H2100 53,310 = 49,680 - = - - = - - = -
5A1H 104|RE 898-254 |G)aY3//uk W IEVY'E $2HE TER W1815 X D615 X H2100 62,200 = 57,960 - = - - = - - = -
6A1H 104 RE 898-065 |G)a93/ /v WYzt V)'E 2 6E% W890 X D315 x H1800 18,680 = 19,800 - = - - = - - = -
681H 104|RE 898-074 |G)aY3/ /v Wbzl E V)'E $2HE 6E% W1215x D315 X H1800 23360 = 24,800 - = - - = - - = -
6A1H 104 RE 898-083 |G)a93/ /U Wzl V)'E 124 6F% W1515 x D315 x H1800 29460 = 29,800 - = - - = - - = -
681H 104|RE 898-092 |G)aY3//uk Wb IlE V)'E $2HE 6E% W1815x D315 X H1800 34110 = 35800 - = - - = - - = -
5A1H 104 RE 898-101 |G)AY3/ /UK W1’V E 24E 6E% W890 X D465 X H1800 21,840 = 20,800 - = - - = - - = -
681H 104|RE 898-119 |G)aY3/ /v Wbzl V)'E $2HE 6E% W1215 X D465 X H1800 29580 = 30,800 - = - - = - - = -
6A1H 104 RE 898-128 |G)a93/ /U Wzl V)'E 124 6% W1515 X D465 X H1800 35180 = 36,800 - = - - = - - = -
681H 104|RE 898-137 |G)a3/ /v Wbzl V)'E $24E 6% W1815 X D465 X H1800 44,300 = 46,800 - = - - = - - = -
6818 104 RE 898-182 |G)a%3//uK Whyalb VY 'E 24 6% W890 X D615 X H1800 27280 = 28,3800 - = - - = - - = -
681H 104|RE 898-191 |G)a¥3/ /UK WhyIlE' VY'E 24 6E% W1215 X D615 X H1800 35000 = 36,800 - = - - = - - = -
6818 104 RE 898-209 |G)aH3/ /UK WhyIlb VY 'E 24 6E% W1515 X D615 X H1800 44,400 = 46,800 - = - - = - - = -
681H 104|RE 898-218 |G)a¥3/ /UK WhyIlE' VY'E 24 6E% W1815 X D615 X H1800 51,800 = 54,800 - = - - = - - = -
6818 104 RE 898-263 |193/ /U WhYTIbE'UH'E W890 X D315 EMIMitR b 1,980 = 2070 - = - - = - - = -
6818 104 X8 898-272 |293//vk Wby’ VE W1215 x D315 Btttk 3120 = 3480 - = - - = - - = -
6818 104 RE 898-281 |293/ /U Whyzlb'V5'E W1515 X D315/ Bk tyh 4100 = 4280 - = - - = - - = -
6818 104 X8 898-299 |253//vk WY1k’ VY E W1815 x D315 BNtk vk 4980 = 5280 - = - - = - - = -
6818 104 RE 898-308 |393/ /Uil Wb’V E W890 X D465 1B MIMRAR b 2,900 = 2970 - = - - = - - = -
681H 104 X8 898-317 |293//Uk Wby’ V' E W1215 x D465 B NAitR b 4100 = 4280 - = - - = - - = -
6818 104 RE 898-326 |293/ /Uil Wb 1IE' VY E W1515 x D465 B INARAR b 5180 = 5280 - = - - = - - = -
681H 104 X8 898-335 |293//vik Wbyl VE W1815 x D465 B NAlitR vk 6,600 = 6,680 - = - - = - - = -
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6A1H 104 RE 898-344 |253//vik Wby’ VY E W890 X D615 Bkt k 3400 = 3570 - = - - = - - = -
6R1H 104/ RE 898-353 |293/ /UK Wbzt V'E W1215 x D615 B AN#tR vk 4970 = 5280 - = - - = - - = -
6818 104 X8 898-362 |33/ /v WY1l VH'E W1515 X D615 B MNiRREyh 6,900 = 7480 - = - - = - - = -
6R1H 104/ RE 898-371 |293//UK Wbzt v'E W1815 x D615 B AN#iR vk 8090 = 8,700 - = - - = - - = -
5818 105| K& 632-713 |G)3Y3//vk W E7vY9 4BRE AR W950 X D450 X H1830 25900 = 25800 - = - - = - - = -
581H 105 RE 632-722 |G)a%3//uK M hE7v) 4B E AR W1850 x D450 X H1830 40,900 = 40,800 - = - - = - - = -
5818 105| K& 632-714 |G)2Y3//Uk W epETv) 4B ETE W950 X D450 X H1830 21,900 = 21,800 - = - - = - - = -
581H 105 8 632-723 |G)aY3/ /v MR ETyY 4B 1EE W1850 x D450 x H1830 37,900 = 37,800 - = - - = - - = -
5818 105| K& 632-711 |G)3Y3//vk W E7v49 4BRE A W950 X D600 X H1830 32,900 = 32,800 - = - - = - - = -
5A1H 105|RE 632-720 |G)AY3/ /UK MR ETvY) 4B E A W1850 x D600 x H1830 49,900 = 49,800 - = - - = - - = -
581H 105|RE 632-712 |G)AY3/ /UK R ETv) 4B IEE W950 X D600 X H1830 28,900 = 28,800 - = - - = - - = -
581H 105 R E 632-721 |G)ay3/ /v W ETvY 4B 1EE W1850 x D600 x H1830 46,900 = 46,800 - = - - = - - = -
581H 105|RE 632-726 |G)AY3//Uk bR ETy) SEREAR W950 X D450 X H2130 32,900 = 32,800 - = - - = - - = -
5A1H 105|RE 632-735 |G)AY3/ /UK W R ETvY 5B E A W1850 x D450 X H2130 48,900 = 48,800 - = - - = - - = -
581H 105|RE 632-728 |G)AY3/ /UK VR ETy) SEXIEIE W950 X D450 X H2130 27,900 = 27,800 - = - - = - - = -
581H 105 RE 632-736 |G)aY3//vik Wb ETyY SEXIEE W1850 x D450 x H2130 44900 = 44,800 - = - - = - - = -
581H 105 RE 632-724 |G)AY3/ /UK bR ETy) SERE AR W950 X D600 X H2130 38,900 = 38,800 - = - - = - - = -
5A1H 105|RE 632-733 |G)AY3/ /UK MR ETvY 5B E A W1850 x D600 X H2130 61,900 = 61,800 - = - - = - - = -
581H 105|RE 632-725 |G)AY3/ /UK VR ETy) SEXIEIE W950 X D600 X H2130 33,900 = 33,800 - = - - = - - = -
581H 105 R E 632-734 |G)aY3//vk W ETvY 5EXHEE W1850 x D600 x H2130 56,900 = 56,800 - = - - = - - = -
5A1H 105 RE 673-271 |293//vK Wb EF949 WO00 x D450 BNtk £k 4000 = 3,980 - = - - = - - = -
5A1H 105|RE 673-273 |293//V K Wb EF9H W00 x D600 B MR vk 5500 = 5480 - = - - = - - = -
5A1H 105 RE 673-274 |293//K Wb EF99 W1800 X D450 BN tyb 7,000 = 6,680 - = - - = - - = -
5A1H 105|RE 673-275 |293//VK Wb EF9H W1800 x D600FH EMHAR b 10,000 = 9,800 - = - - = - - = -
5A1H 105|RE 898-407 |G)1YI/ XERTFFRAXIEJITYI5ERE A W1800 X D360 X H1625 37280 = 34,830 - = - - = - - = -
5A1H 105|RE 898-416 |G)1)1/ X ERFFRRIEJITy /5B IZE W1800 X D360 X H1625 33,300 = 31,080 - = - - = - - = -
5A1H 105|RE 898-488 |G)1YI/ XERFFAXIEJITYI5EREAR W1800 X D690 X H1625 46,370 = 43,260 - = - - = - - = -
5A1H 105|RE 898-497 |G/ X ERFFRRIEJITYI5EIZE W1800 X D690 X H1625 43,100 = 40,250 - = - - = - - = -
5A1H 105|RE 898-425 |G/ X ERFFRRIEJITYI6EXE AR W1000 X D360 X H2000 26,400 = 24,700 - = - - = - - = -
5A1H 105|RE 898-443 |G/ X ERFFRMIEJITYI6EEE KR W1400 x D360 X H2000 33220 = 31,080 - = - - = - - = -
5A1H 105|RE 898-461 G131/ X ERFFRRIEJITYI6EXE AR W1800 X D360 X H2000 42970 = 40,130 - = - - = - - = -
5A1H 105|RE 898-434 |G)1YI/ X ERFFRMIGJITYI6EXIZE W1000 X D360 X H2000 22380 = 20,930 - = - - = - - = -
5A1H 105|RE 898-452 |G/ X ERFFRRIEJITYI6EXIEE W1400 X D360 X H2000 29,180 = 27,200 - = - - = - - = -
5A1H 105|RE 898-479 |G/ X ERFFRMIGJITYI6EXIZE W1800 X D360 X H2000 38800 = 36,250 - = - - = - - = -
5A1H 105|RE 898-506 |G)1YI/ X ERFFRRIEJITYI6EXE AR W1000 X D690 X H2000 35800 = 33,400 - = - - = - - = -
5A1H 105|RE 898-524 |G/ X ERFFRRMIGJITYI6EEE R W1400 X D690 X H2000 46,600 = 43500 - = - - = - - = -
5818 105 RE 898-542 |G/ X ERFFRMIGJITYI6EXE A W1800 X D690 X H2000 54690 = 50,980 - = - - = - - = -
5A1H 105 RE 898-515 |G)2Y/ X ER T X EJIFY Y6 EXHEE W1000 X D690 X H2000 31,630 = 29,520 - = - - = - - = -
5818 105 RE 898-533 |G)1YI/ X ERFFRRIGJITYI6EXIEE W1400 X D690 X H2000 42370 = 39550 - = - - = - - = -
5A1H 105 RE 898-551 |G)2Y/ X ERTFR X EJIFYI6 X HEE W1800 X D690 X H2000 49800 = 47210 - = - - = - - = -
6A1H 106 RE 929-613 |G M—F/B=F W AFYIRER! Bi{K Kih5EF W900 X H1800 25830 = 27,800 - = - - = - - = -
6818 106 RE 929-614 |G){b—F/EREF NI ATYIRER! B{K Kh5E% W1200 X H1800 33,330 = 35,800 - = - - = - - = -
6A1H 106 RE 929-615 |G b —F/BREF W RATYIRER! Bi{K Kih5E% W1500 X H1800 44,440 =  47.800 - = - - = - - = -
6818 106 RE 929-616 |G)1h—F/EREF NI ATFYIRER! B{K Kih5E% W1800 X H1800 48610 = 52,800 - = - - = - - = -
6A1H 106 RE 929-617 |G M—F/B=F W AFYIRER! Bi{K Kh6EE W00 X H2100 30,000 = 32,800 - = - - = - - = -
6818 106 RE 929-618 |G)fh—F/EREF NI ATFYIRER! BA{AK Kih6F% W1200 X H2100 38,880 = 41,800 - = - - = - - = -
6818 106 RE 929-619 |G —F/EEF NI ATFYIRER! Bi{k KHh6F% W1500 X H2100 52220 = 56,800 - = - - = - - = -
6818 106 RE 929-620 |G)h—F/EREF NI ATYIRER! BA{K Kith6F% W1800 X H2100 57,220 = 61,800 - = - - = - - = -
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6A1H 106 RE 929-621 |{h—%/EB =K W ATYIREZY FH WI00F EMN#AR v b 3014 = 3380 - = - - = - - = -
6R1H 106 RE 929-622 |{b—%/BB 2K NI ATYIREE! A W1200R BNtk EyH 4576 = 4980 - = - - = - - = -
6818 106 RE 929-623 |{b—%/EEH VI ATYIREE! FH W1500/ B NHHR £y b 6,848 = 7480 - = - - = - - = -
6R1H 106 RE 929-624 |{b—%/BB 2K NI AFYIREE! A W1800A BNtk tyh 7,800 = 8,480 - = - - = - - = -
681H 106| RE 929-626 |{b—%/EEEHR M ATYIRERA 4R H200 148 1,846 = 1,980 - = - - = - - = -
6R1H 106 RE 929-627 |{/h—%/BERNINATYIREE A 1R H270 14K 1988 = 2280 - = - - = - - = -
6A1H 106 RE 929-628 |{1b—%/8EER NI AFyIRER! A W00 [EE5 % FRALEN - 5964 = 6,480 - = - - = - - = -
6R1H 106 RE 929-629 |{b—%/EEK N AFyIREE! A W1200/ EIERXE TN — 6,674 = 7,180 - = - - = - - = -
6A1H 106 RE 929-630 |{b—%/BREFR NI ATYIRER! A W1500/ EIERHE FREIEN - 7,384 = 7980 - = - - = - - = -
6R1H 106 RE 929-631 |{b—%/EEHK W AFyIREE! A W1800F MR E FRHLEN— 7810 = 8,480 - = - - = - - = -
5818 107|XE 676-478 |7AYAZT—¥Y/ 794 18910 X &X1200/MR-9012J 8000 = 7470 - = - - = - - = -
581H 107| K& 639-185 |7AYAZX—¥Y/ N 759H4E& L% 15— H1510/MR-9015J 7980 = 7670 - = - - = - - = -
5818 107 RE 639-186 |7AYAZ—¥Y/AI79)5E&L% 15— H1785/MR-9018J 10,780 = 8,970 - = - - = - - = -
581H 107|XE 639-188 |7AYRE—+ ¥/ A1 Fy93E&L+ 15— H900/MR-1209 11,000 @ 9400 - = - - = - - = -
5818 107|XE 676-479 | TAYAA—Y7/+2)FvY 151200 X FX1200/MR-1212 11,400 = 9,600 - = - - = - - = -
581H 107|XE 639-190 |7YAZ—¥Y/ AN 59H4E&L% 15— H1510/MR-1215J 11,490 = 9,800 - = - - = - - = -
5818 107 RE 639-191 |7AYAZ—¥Y/ AN 79)5E& L% 15— H1785/MR-1218J 12,900 = 11,800 - = - - = - - = -
581H 107|XE 676-480 |FAYAF—¥7/*4)5v% 1500 X FE1510/MR-1515J 17,900 = 17,480 - = - - = - - = -
5A1H 107|RE 676-482 |7AYAZT—¥I/ 2 Fv% 1E1500 X 75 51785/MR-1518J 19,900 = 18,800 - = - - = - - = -
581H 107 RE 676-483 |7AYAZT—¥Y/ 794 1E1500 X = S1785F ! /MR-1518DJ 31,000 = 29,800 - = - - = - - = -
5A1H 107|/RE 676-486 |7AYAT—V3/*Fv% 1E1800 X FE1510/MR-1815A 20,900 = 20,400 - = - - = - - = -
581H 107| K& 676-488 | TAYAF—Y7/+2)5vY 1800 X ZX1785/MR-1818A 28,000 = 25400 - = - - = - - = -
51H 108/ RE 894-276 |7AYAZT—¥Y/FF99L% 15— K~ H900/MR-9P 925 = 748 - = - - = - - = -
581H 108| K& 894-285 | FAYAE =Y/ AN Fv9LF 15— =)L H1200/MR-12P 1127 = 848 - = - - = - - = -
5A1H 108 XE 894-294 |7AYAT—=¥Y/FNF9IL% 15— Ak~ H1510/MR-15P 1,340 = 948 - = - - = - - = -
5818 108 K2 894-411 |TAYAZF—¥Y/ N 7994 15— 18660mm FAFEE Y7 —/MR-66E 925 = 747 - = - - = - - = -
5A1H 108 RE 894-348 |FAYAA =Y/ ANTv9LE 15— AMRE E &R & 448/MR-4K 280 = 219 - = - - = - - = -
581H 108| K& 894-465 |FAYAE—Y3/FF99L% 1518 1200mm AN —F/MR-1246K 2263 = 1,770 - = - - = - - = -
5818 108 RE 894-501 |FAYAA—% /AN F993=FA% =) 415mm/MM-415P 576 = 367 - = - - = - - = -
581H 108| K& 894-519 |7AYAZF—=¥Y/ N9 AF =l 720mm/MM-720P 674 = 467 - = - - = - - = -
5818 108 RE 894-528 | FAYAE—% /AN FvI3=FA% =) 875mm/MM-875P 816 = 567 - = - - = - - = -
581H RIER:! 173-180 |Garage/AP—Y'KK EEE #-7"V1E% H396 B KK-8004 14,000 = 13,300 - = - - = - - = -
581H 1M11|RE 173-181 |Garage/AbL—Y'KK EEBE #-7V1E% H396 KEH KK-8004 14,000 = 13,300 - = - - = - - = -
5818 111|RE 173-174 |Garage/AP—Y'KK EEE #-7"V2E% H740 B KK-8007 20,900 = 18,900 - = - - = - - = -
581H 1M11|RE 173-175 |Garage/AN—V'KK EBE #-7"V2E% H740 K H KK-8007 20,900 = 18,900 - = - - = - - = -
581H 1M1 |xE8 173-170 |Garage/A—Y' KK FEE #—7"V3Ek H1114 B KK-8011 25600 = 24,000 - = - - = - - = -
581H 1M11|RE 173-171 |Garage/AM—Y' KK FEZE £-7"V3E% H1114 KB KK-8011 25600 = 24,000 - = - - = - - = -
581H RIER! 173-166 |Garage/APL—Y'KK FTEE #-7°V5E% H1854 B KK-8018 34600 = 32,600 - = - - = - - = -
581H 1M11|RE 173-167 |Garage/AM—Y'KK FEZE #-7'V5E% H1854 KB KK-8018 34600 = 32,600 - = - - = - - = -
581H RIER! 173-182 |Garage/AN—V'KK L EE EHRE 1ERFA B KK-40D 10,200 = 9400 - = - - = - - = -
581H 1M11|RE 173-183 |Garage/Ab—Y'KK FEE HFE 1E8A KB KK-40D 10,200 = 9400 - = - - = - - = -
581H RIER! 173-176 |Garage/AN—V'KK L EE EHRE 25FA B KK-70D 11,200 = 10,300 - = - - = - - = -
581H 1M11|RE 173-177 |Garage/Ab—Y'KK FEE BB 28 KB KK-70D 11,200 = 10,300 - = - - = - - = -
581H RIER! 173-172 |Garage/A—Y'KK FTEE FFEE XA B KK-110D 12,400 = 11,500 - = - - = - - = -
581H 1M11|RE 173-173 |Garage/A—Y'KK TEZ E B XA AB KK-110D 12,400 = 11,500 - = - - = - - = -
581H 1M |58 173-168 |Garage/A—Y'KK FTEE HFEE 5EXFA B KK-180D 15,100 = 14,100 - = - - = - - = -
581H 1M11|RE 173-169 |Garage/A—V'KK FTEE HFME 5EXF AB KK-180D 15100 = 14,100 - = - - = - - = -
581H RIER:! 173-184 |Garage/Ar—Y KK #iHR B(28A) KK-80T1/411560 6,000 = 5600 - = - - = - - = -
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581H 111|RE 173-185 |Garage/AM—Y KK 41k A H (28t A) KK-80T1/411565 6,000 = 5600 - = - - = - - = -
581H MR8 173-186 |Garage/AbL—Y'KK KAR B KK-80T/411550 9,200 = 8,600 - = - - = - - = -
5A81H 1M |xE 173-187 |Garage/A—Y'KK KR KB KK-80T/411555 9,200 = 8,600 - = - - = - - = -
581H 12| K8 929-635 |7—/-I7-¥YNTSH/7-I KRB\ 70- H1114 K94b-5'L— 13900 = 13,400 - = - - = - - = -
5818 112|KE 929-636 |7—N-I7-¥YhISH/7 I KRBV  H1810 K94+ 4 L— 21900 = 21,700 - = - - = - - = -
5A1H 112|RE 696-441 | 7=/ -17-¥YVAISH/ 7 —IAREAE F RV 7 2558 R74b-5'L— 25500 = 23,700 - = - - = - - = -
581H 112|RE 696-442 | 7= -17-¥VhISH/ 7)Y REAEF RV T 45128% K74b-5'L— 23,500 = 21,700 - = - - = - - = -
681H 121|%8 681-623 | SPNARZIN'—T1Yav2 W1l EE1100 X #§700mm 6,500 = 6,880 - = - - = - - = -
6A1H 121|%8 681-626 |SPNAZIN—T1Yav2 N3 & E1100 X HE900mm 7500 = 7,880 - = - - = - - = -
681H 121|%8 681-627 |SPNARZIN—T4Y3v2 NI EE1100 X BE1000mm 7917 = 8480 - = - - = - - = -
6A1H 121|188 681-628 | SPNAEIN'—T4Yav2 N4l & E1100 X #F1200mm 8,753 = 8,980 - = - - = - - = -
681H 121|%8 681-630 | SPNARZIN' —T1av2 W1l EE1640 X 1§700mm 8125 = 8880 - = - - = - - = -
6A1H 121|RE 681-632 |SPNAREN—T1Y3v2 N3 EE1640 X HE900mm 9324 = 9880 - = - - = - - = -
681H 121|%8 681-634 |SPNAZIN-T1Y3V2 NI EE1640 X BE1000mm 10,180 = 10,800 - = - - = - - = -
6A1H 121|158 681-635 | SPNAEIN' —T4av2 N1l B 1640 X 1F1200mm 11,800 = 12,800 - = - - = - - = -
681H 121|%8 681-637 |SPNAREIN' —T1av2 1) EE1850 X #§700mm 10,080 = 10,800 - = - - = - - = -
6A1H 121|RE 681-639 |SPNAREN—T1Y3v2 N3 EE1850 X HE900mm 11,610 = 11,800 - = - - = - - = -
681H 121|%8 681-640 |SPNAZIN—T43v2 N3 EE1850 X fE1000mm 12,560 = 12,800 - = - - = - - = -
6A1H 121|158 681-641 | SPNAEIN'—T4Yav2 N1 & 1850 X HF1200mm 13510 = 13,800 - = - - = - - = -
5A1H 125|RE 929-770 |FABUERR /Y77 UH2/H1200%W1000/7 b—/YSNP100S-BL 11,760 = 10,100 - = - - = - - = -
5818 125 RE 929-771 |¥&LERR/Y 977)0H2/H1200%W1000/ 424" —/YSNP100S-NV 11,760 = 10,100 - = - - = - - = -
581H 125 RE 929-772 | MELERR/Y v77)Y92/H1200%W1000/74 M) L—/YSNP100S-LG 11,760 = 10,100 - = - - = - - = -
5A1H 125|KRE 929-773 |MBUERR /Y977 UH2/H1200%W1000/A" Y 1/YSNP100S-BE 11,760 = 10,100 - = - - = - - = -
5A18 125 RE 929-774 | MBLERR/Y 77092/ H1200%W1000/4 LYY /YSNP100S-OR 11,760 = 10,100 - = - - = - - = -
5A1H 125 K8 929-775 |MBUERR /"7 UH2/H1200%W1000/Lyh /YSNP100S-RD 11,760 = 10,100 - = - - = - - = -
5A18 125 RE 929-776 |MELERR/Y 77 YH2/H1615%W1000/7 L—/YSNP100M-BL 13,200 = 11,100 - = - - = - - = -
5A1H 125 K8 929-777 |MBLERR /Y97 UH2/H1615%W1000/ %4t —/YSNP100M-NV 13200 = 11,100 - = - - = - - = -
5A18 125 RE 929-778 |FABUVERR /S 7 UH2/H1615%W1000/74 ' L—/YSNP100M-LG 13,200 = 11,100 - = - - = - - = -
5A1H 125 K8 929-779 |MBLERR /Y97 UH2/H1615%W1000/A" =Y 1/YSNP100M-BE 13200 = 11,100 - = - - = - - = -
5A18 125 RE 929-780 | M ELMERR/Y 77 YH2/H1615%W1000/74 LY /YSNP100M-OR 13,200 = 11,100 - = - - = - - = -
5818 125 RE 929-781 | W ELERR /Y v77)»92/H1615%¥W1000/LyF /YSNP100M-RD 13,200 = 11,100 - = - - = - - = -
5A18 125 RE 929-782 |FABUERR /Y7 UH2/H1850%W1000/7 b—/YSNP100L-BL 14742 = 12,600 - = - - = - - = -
5A1H 125 K8 929-783 | M BUERR/Y'v77Y92/H1850%W1000/ %4t —/YSNP100L-NV 14742 = 12,600 - = - - = - - = -
5A18 125 RE 929-784 |FABIVERR /S 7 UH2/H1850%W1000/74 ' L—/YSNP100L-LG 14742 = 12,600 - = - - = - - = -
5A1H 125 K8 929-785 | W BUERR/Y'v77)Y)2/H1850%W1000/A =% 1/YSNP100L-BE 14742 = 12,600 - = - - = - - = -
5A18 125 RE 929-786 | M ELMERR/Y 77 YH2/H1850%W1000/4L YY" /YSNP100L-OR 14742 = 12,600 - = - - = - - = -
5A1H 125|RE 929-787 |#MAEUERT/V Y77 vH2/H1850¥W1000/Lyb /YSNP100L-RD 14742 = 12,600 - = - - = - - = -
5A1H 125 RE 929-788 | W ELMERR/Y 7" YH2/H1200%W1200/7 b—/YSNP120S-BL 12,160 = 10,500 - = - - = - - = -
5A1H 125|RE 929-789 | M BLERR/Yv7YH2/H1200%W1200/ 24 —/YSNP120S-NV 12,160 = 10,500 - = - - = - - = -
5A1H 125 RE 929-790 | M BLERR/Y 977 Y92/H1200%W1200/74 M) L—/YSNP120S-LG 12,160 = 10,500 - = - - = - - = -
5A1H 125|RE 929-791 | MBUERR/Y'v77)v92/H1200%W1200/A° %" 1/YSNP120S-BE 12,160 = 10,500 - = - - = - - = -
5A1H 125 RE 929-792 | MBLERR/Y 77 YH2/H1200%W1200/4 LYY /YSNP120S-0OR 12,160 = 10,500 - = - - = - - = -
5A1H 125|RE 929-793 |FAEUERR/ VY7 UH2/H1200%W1200/Lyb /YSNP120S-RD 12,160 = 10,500 - = - - = - - = -
51H 125 RE 929-794 |FRBUERR /Y97 UH2/H1615%W1200/7 b—/YSNP120M-BL 13,962 = 12,400 - = - - = - - = -
5A1H 125|RE 929-795 | M BUERR/Y 77V )2/H1615%W1200/ %4t —/YSNP120M-NV 13962 = 12400 - = - - = - - = -
5A1H 125 RE 929-796 |FABUVERR /S 7 UH2/H1615%W1200/74 ' L—/YSNP120M-LG 13962 = 12400 - = - - = - - = -
5A1H 125|RE 929-797 |MEUERR/Yv7UH2/H1615%W1200/A =Y 1/YSNP120M-BE 13962 = 12400 - = - - = - - = -
51H 125 X8 929-798 |MELERT/Y 971U 92/H1615%¥W1200/4LYY"/YSNP120M-OR 13,962 = 12,400 - = - - = - - = -
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5A1H 125 RE 929-799 | MELERR/Y 977 YH2/H1615%W1200/Lyb /YSNP120M-RD 13962 = 12,400 - = - - = - - = -
6R1H 1271\ RE 129-659 |7'7F+ B EE/TI-T1VA9)-Y K74+ H1650/ADS-No.16 C-10 35900 = 37,800 - = - - = - - = -
6818 1271|%E 129-658 |7'5F+ FEZE/71-T4VA9)=Y 4= H1650/ADS-No.16 A-1 35900 = 37,800 - = - - = - - = -
581H 127 RE 929-803 |1/71/RM3Y1)—A"/3:8)IAARYY—=Y/7 b—/RM3-CBL 39,800 = 37,000 - = - - = - - = -
5818 1271|%E 929-804 |1/7I/RM3YY—A"/3&EI0ARY) =Y/ L—/RM3-CGL 39,800 = 37,000 - = - - = - - = -
581H 127 RE 929-805 |1/7L/RM3V—R"/3EAY =Y/ AF-347 /RM3-SWH 39,800 = 37,000 - = - - = - - = -
5818 127 RE 929-806 |1/I/RM3Y)—R"/3ER))-V/TH)IN447° /RM3-AL 39,800 = 37,000 - = - - = - - = -
6R1H 128 RE 135-230 |YV747°74/K Jh—K #—F N—T130/SPT-0816N 11,000 = 12,800 - = - - = - - = -
6818 128 RE 696-329 |4U7¥7°54/FKh A9)-Un'—T4¥3v2 WBH47'/SPT-0816WB 16,650 = 18,800 - = - - = - - = -
581H 128 RE 588-151 |¥¥747°34/KVARY)=Y2 $¥R9—tyb/SPT-CAST 2077 ® 1810 - = - - = - - = -
681H 130/ RE 639-849 |G)193/1507—LLAFIT— fAry4R &AL W1500 X D600 ') 27,130 = 30,800 - = - - = - - = -
6818 130 RE 639-850 |G)193/1507—ALAF17— FAry+iH &AL W1500 X D600 Sk 27,130 = 30,800 - = - - = - - = -
681H 130/ RE 639-848 |G)193/1507—LLAFI7— fArv4R T74L W1500 X D600 2 27,130 = 30,800 - = - - = - - = -
6818 130 RE 634-012 |G)293/1507—ALAF17— FAry+R &AL W1800 X D600 v 28830 = 31,800 - = - - = - - = -
681H 130/ RE 639-851 |G)193/1507—ALAFI7— fry4i E74L W1800 X D600 Uk 28,830 = 31,800 - = - - = - - = -
6818 130 RE 634-013 |G)293/1507—LLAF17— fAry+RH &AL W1800 X D600 £ 28830 = 31,800 - = - - = - - = -
6818 130 RE 639-842 |G)293/1507—LLAFI7— FArv4Hl A—n'ys W1500 TYY 36,920 = 39,800 - = - - = - - = -
6818 130 RE 639-843 |G)293/1507—LLAFIT— FAAivER A—n"yy W1500 IUb 36,920 = 39,800 - = - - = - - = -
6818 130 RE 639-841 |G)a43/1507—LLAFI7— fAlvdH) 0—n'v) W1500 22 36,920 = 39,800 - = - - = - - = -
6818 130 RE 615-800 |G)393/1507—ALAF17— fAryv+R O—n"yy W1800 Ty 39,300 = 42,800 - = - - = - - = -
6818 130 RE 658-543 |G)193/1507—LLAFI7— FAilv4Hl A—n'ys W1800 IUb 39,300 = 42,800 - = - - = - - = -
6818 130 RE 615-801 |G)293/1507—LLAFI7— A v+l 0—n'yy W1800 £ 39,300 = 42,800 - = - - = - - = -
6A1H 131|RE 676-667 |7—)-17-¥INT/A =Yy REO-H909-1—+— +Fa7l 14900 = 15,800 - = - - = - - = -
681H 131|RE 676-668 |7—I-17-¥Yh7/A'=yy) RED-H)U9—-1—F- K74+ 14900 = 15,800 - = - - = - - = -
6A1H 131|RE 696-385 | 7=/ -I7-¥INT/AN =Yy ) RED-H)U9-1—F- 49739 14900 = 15,800 - = - - = - - = -
681H 132|RE 595-807 |7—)-17-¥INTSH/EE K74+ 12000 = 12,700 - = - - = - - = -
6A1H 132|RE 595-806 |7—)-17-¥YhISH/;EE 49757 12000 = 12,700 - = - - = - - = -
581H 134 K8 681-614 |PLAJyn'Y1—2'399 NA/WH/PLN-14C 8820 = 8,780 - = - - = - - = -
5818 134 RE 134-744 |[NYaT9) - AV8=FVat /Ay y1—A'59492515E8 /PLN-145C 13,900 = 13,400 - = - - = - - = -
6818 134 RE 134-745 |WYaTyY-408—FYat I/ R)yNYa—R'599355E% /PLN-165C 17,500 = 18,700 - = - - = - - = -
5818 136 RE 191-716 |YyFzl/Fe’ snvILybA4ub 15176 A'='1/0T9802010 20,840 = 19,700 - = - - = - - = -
5A1H 136 RE 194-665 |JyFzl/Fe snNUILyb A9 1517, 7°572/0T9802030 20,840 = 19,700 - = - - = - - = -
6818 136 RE 191-715 |YyFl/Fe’ snvILyb R4k 25176 A'='1/0T9802020 27,980 = 29,700 - = - - = - - = -
6R1H 136 RE 194-666 |JyFzl/Fe sNyILybA9UE 25176, 7°572/0T9802040 27,980 = 29,700 - = - - = - - = -
6818 138 RE 929-872 |4 B/757-H"y9AJE W1200 R7/SFN-1200JS 29,250 = 32,800 - = - - = - - = -
6R1H 139 X2 625-322 |ILIIZEZE/VCA—F TN #3/F-18-3 2,398 = 2590 - = - - = - - = -
5818 139 RE 663-343 | TFEF/Fr1 LYy 456 X 756mm %5 & /MR0530467 3611 = 2670 - = - - = - - = -
5818 139 RE 663-446 | T7EM/FrM4 LYYk 606 X 855mm & E A /MR0530487 5079 = 4440 - = - - = - - = -
6818 139 RE 601-815 | T3ER/H3404° LY 7HI 600 X 900mm [k & /MR-139-440-5 3,790 = 4280 - = - - = - - = -
581H 139| X8 194-668 | T7EM/73405° 1702 EHHFYYE 900 X 1500mm [RE 10,860 = 9,980 - = - - = - - = -
6818 139 RE 195-294 |T7EM/7355% WY 7HI 900 X 1800mm k£ /MR-139-448-5 12,858 = 13,800 - = - - = - - = -
6R1H 139 RE 134-730 |ILEEZE/0vY7heyt 2459 —F 600 X 900mm 'L — 6,600 = 6,880 - = - - = - - = -
6818 139 RE 191-722 ||LWGEEZE/AVY7heyb 28048 =F 900 X 1500mm 4'L— 13,800 = 15,800 - = - - = - - = -
6R1H 139 RE 191-723 ||LEEZE/AYY 7y 408 —F 900 X 1800mm 'L — 16,400 = 17,800 - = - - = - - = -
6818 140 RE 134-855 |T7EM/ A7V 900 X 1800mm #1)—7"%")—»/MR0380481 11,520 = 12,100 - = - - = - - = -
681H 140\ RE 134-861 |77EF/NAFOY 900 X 1800mm I JLb7)L—/MR0380483 11520 = 12,100 - = - - = - - = -
5818 140 RE 949-563 | 73EF/IaL1U¥yF 600 X 900mm #'L—/MR0261405 6,346 = 5700 - = - - = - - = -
6R1H 140 RE 195-348 |G)ILUEEZE /=2— % sK¥yb GR 600 x 900 ¥'L—/F-176-6 5980 = 6,480 - = - - = - - = -

18/19




AR (T Hith A& T,
RYa—LTARAT+QIRFEAE S 1E LY QIRFEME TY .

Ra— LT A ZAD D RYL—LTFA RN RYL—LTFA RN
Z®EH fﬁgjﬁtm ANEES ERAW B ST A% IR (=) BR5Effits (#=) BREifite (#=) HRFEifME (#=) BRsEifite (#=) BRFEiffE (#=)
(20184F) A ETEE AT THE% ZEA] EHEE ZEA] EHEE
6818 140| RE 191-720 |GG EZE/=1—-I%sKvyk 900 X 1500mm 4'L—/F176-15 GR 11,280 = 12,800 - = - - = - - = -
6818 142| RE 601-808 |T7Eb/IZHYT=1-A T T AH/UB-282-500-0 3124 = 3480 - = - - = - - = -
5A1H 142|RE 638-807 |YATAKT—/%LE 10048 /PE-5 136 = 116 - = - - = - - = -
5818 142 RE 638-808 |VATLRYY—/%LE 100#+50%%/PE-5 6,423 = 5440 - = - - = - - = -
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